N = 0l & At & M A

EEENE SN =X
PN
D MNEEXXHE (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
A= 1,608,227,990 1,408,040, 103 200, 187,887
= 1,205,984,198
g 11,749,399
Jl 43,679,963
= 346,814,430
S XA 2 718,116,940 650,844,491 67,272,449
= 478,070,812
g 8,942,000
J| 2,943,074
o= 228,161,054
INPIR= P~ 25,129,432 19,559, 866 5,569,566
= 18,428,838
= 6,700,594
ALS 2 X A& 25,129,432 19,559,866 5,569,566
= 18,428,838
= 6,700,594
2120 g2=& 78,600 78,600 0
201 2Et24A Y| 27,000 27,000 0
01 AP 2t 2] d| 27,000 27,000 0
OgetE Al =2H| 27,000
202 044l 4,800 4,800 0
01 2L HI 4,800 4,800 0
OMS=2EXNEHMH L2 4,800
203 € R F & 46,800 46,800 0
03 AIEH =X 2 F X H| 46,800 46,800 0
OAgIE2Xge =X 46,800
ASIEXAIE 4538 K& 499,769 546,897 N4T7,128
307 QI2t0| & 481,769 448,897 32,872
10 MM SAANEEHESIGHEX 285,028 263, 364 21,664
O=E=M3EXNE2T 29 285,028
11 A EXAIEEX 196,741 185,533 11,208
OAZEXNZ2ES223 X 90,000
OoZgzewy 29 96,741
OFS=MIEXNA EES L5 = 10,000
308 XHXIEHSOIA 18,000 18,000 0
01 AIKSHHEMNEXZ 18,000 18,000 0
OANZ MEEsXE2E 29 NS 18,000
SHSCESAMIENNEH 2SS 661,645 587,681 73,964
201 et 9| 6,600 0 6,600
02 232%H| 6,600 0 6,600
OZE=CSEAMI=SNNLAEH HIIHHEA 6,600




NENC RN SN =X

HH: =X 0|UEs

CHRl: A2 XX (2 &HH)
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
307 2Iz2to| & 598,745 587,681 11,064
05 QIZtR E 2 598,745 587,681 11,064

O=HEEE SN EXHH 29 598,745
401 AlEHIZL 2 0HY| 56,300 0 56,300
01 Al& H| 56,300 0 56,300
OZEHSTSSANIEXNMEH E482 36,300
OSE=SSESAMIENLHH JIsEZ 20,000
A3 E2XQ &0tS =X 8,000 8,000 0
308 XX EHSOIA 8,000 8,000 0
01 AIKSHHEMNEX= 8,000 8,000 0
OAMSI=2XI < J|E&A 8,000
A 22X XSS K& 16,000 12,000 4,000
= 8,000
= 8,000
308 XAHXIGHHM SO0l & 16,000 12,000 4,000
= 8,000
& 8,000
01 HXHHIMNEXZ 16,000 12,000 4,000
OMS=SXASAUHE X 16,000
= 8,000
= 8,000
HELEAHNH A =& 1,384,825 0 1,384,825
= 1,065,250
o=t 319,575
308 XX SHAHSOIH 1,384,825 0 1,384,825
= 1,065,250
o 319,575
01 AIXSHMEMNEX=Z 1,384,825 0 1,384,825
OHBUEIAHNH & AIYE =& 1,384,825
= 1,065,250
& 319,575
MR AIS=SXNBSR2H AHEG 4,500 4,500 0
201 LBt 4,500 4,500 0
03 A2 E Y| 4,500 4,500 0
OAlFR Al EXNZ2RE H&ES X 4,500
ANSI 2 X AP H &S 20,000 12,000 8,000
307 giztol A 20,000 12,000 8,000
11T A EXAIEEX 20,000 12,000 8,000
OES=UZAIG S X HAEF 12,000
ES= A SEXAU 3 8,000
&= AMSIEXNAF HEUS =t 6,000 6,000 0




PAZT 2 SN =X
PN
D MNEEXXHE Chel: ® &)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
307 2Iz2to| & 6,000 6,000 0
11T AISIEXAIEEX 6,000 6,000 0
O&d=Z MNBI=E2XA HSUHE EIF 6,000
ASISEXAIE MEX RS2 128,000 128,000 0
301 et A =2 128,000 128,000 0]
01 Al E & A 462 128,000 128,000 0
OAMZEXAILE MEX /A2 128,000
ASISEXAIE SALA 2 EY 29 150,000 113,000 37,000
307 QI2t0| ™ 150,000 113,000 37,000
11 Al EXAIEEX 150,000 113,000 37,000
OMBIEXAE SAIA E€HEY 29 150,000
AMNSIEXNAE SALAF CHA Q& X/ (=2H]) 542,922 487,174 55,748
= 380,047
o= 162,875
307 212t0| & 542,922 487,174 55,748
= 380,047
= 162,875
11 A EXAIEEX 542,922 487,174 55,748
OMBIEXAIE SAXR WM X 542,922
= 380,047
& 162,875
AMSIEXEe XNE -84 & s =AW 4,000 4,000 0
202 04| 4,000 4,000 0
01 2L HI 4,000 4,000 0
OAMEEXEe XE - #d & s =X 4,000
AL EXYQOl - AlE D= 11,000 8,500 2,500
201 et 11,000 8,500 2,500
01 AP 2t 2] H| 11,000 8,500 2,500
OAIZIS X gl - Al 1= 11,000
AMISXNANESAMI R & 336,000 320,400 15,600
307 212t0| ™ 336,000 320,400 15,600
10 AISIEXAIEEHE2IHIEX 336,000 320,400 15,600
OAMBIEXAIE A =Y X 336,000
AN A S XAIE SAXN REE X 2,246,928 2,246,928 0
308 XX EHSOIA 2,246,928 2,246,928 0
01 AIXSHMEMNEX= 2,246,928 2,246,928 0
OAT A EXAIEESAIL RS 2,246,928
HolRHEXAYE 29AH 56,280 71,400 A 15,120
308 XHXIGHH SO0l & 56,280 71,400 A 15,120




a2 gA=K2 SN =XEED
dM: EXDIgtx 4
&2 MISXXE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 56,280 71,400 A 15,120
OMe2d=EXAE 2SXH 56,280
M3 EXAL E+10F X 70,000 60,000 10,000
307 glz2tol & 70,000 60,000 10,000
11T MISRASEX 70,000 60,000 10,000
OAMA=XAMN Exns N& 70,000
C=0AlE 29I 5,124,479 4,491,470 633,009
=2 3,587,135
< 1,537,344
308 MtXIEHMSOIH 5,124,479 4,491,470 633,009
2 3,587,135
< 1,537,344
01 HXNHHBHELS 5,124,479 4,491,470 633,009
OL=2Ae 29H XA 5,124,479
= 3,587,135
=) 1,537,344
C=0AME JIsE 311,767 169, 125 142,642
= 207,845
& 103,922
403 Ut SHHSA=0l& 311,767 169, 125 142,642
=2 207,845
< 103,922
01 HXSHMA2E X 311,767 169, 125 142,642
L=0AE JlsE 311,767
2 207,845
< 103,922
C=0AIE O dAsE 3,600 0 3,600
201 Let24E] 3,600 0 3,600
01 At 22l 3,600 0 3,600
OL=QAl4d It A= 3,600
S A 22l Ab el A4l XIT& 952,510 926,899 25,611
= 732,700
< 219,810
308 MtXIEHMSOIH 952,510 926,899 25,611
= 732,700
< 219,810
01 HXNHHBHEELS 952,510 926,899 25,611
OSe At 2telAr etAdl XI& 952,510
= 732,700
< 219,810
AN S At 2el X2 99,000 99,000 0
= 82,500
< 16,500




a2 BARTR SN =X
HH: =X 0|UEs
CHRl: A2 XX (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 99,000 99,000 0
= 82,500
& 16,500
01 AIXSHMEMNEX= 99,000 99,000 0
OAN SE At 22l XS 99,000
2 82,500
=} 16,500
SHE UFY SeAHA I 938, 196 938, 196 0
2 899,640
& 38,556
308 XHXIGHH SO0l & 938, 196 938, 196 0
= 899,640
& 38,556
01 IXHHNIMNEXS 938, 196 938, 196 0
O=sHs Ad=8 SEMEIA XA 938,196
= 899,640
o= 38,556
201749 S8 s EXdEs 2= 235,690 459,900 N224,210
= 226,000
o= 9,690
308 AMXISHMSOIA 235,690 459,900 A224,210
= 226,000
=} 9,690
01 AIXSHMEMNEX=Z 235,690 459,900 N224,210
020178 8= E=XdBEs & 235,690
= 226,000
& 9,690
MNIE2HE XN AE 11,239,721 7,310,000 3,929,721
= 11,239,721
308 XX G SO0l A 11,239,721 7,310,000 3,929,721
= 11,239,721
01 AIKSHHEMNEXZ 11,239,721 7,310,000 3,929,721
OMIELRHET X AY 11,239,721
= 11,239,721
olsEXAMEAXH 107,505,076 94,070,632 13,434,444
= 85,835,187
J| 2,943,074
& 18,726,815
KNEOEESAISE XS 107,505,076 94,070,632 13,434,444
= 85,835,187
J| 2,943,074
& 18,726,815
Ols g Xgoss Iy 40,000 40,000 0
307 gizto| A 40,000 40,000 0
11T A EXAIEEX 40,000 40,000 0




ERCEEVE SN =XEED
M Ots=2XNAMEAXR
el NGsSES AR (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OOSAHENAZZOSBE2Y 40,000
OtSEXAIE S ALAA == 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
11T MISRASER 25,000 25,000 0
OO0SSXNAESAA A =4 eta AZZ 25,000
OtsHdsd+8s & HAXRA 54,500 54,500 0
307 21201 A 54,500 54,500 0
11T M3 SXAISE EX 54,500 54,500 0
O0eolg At 20,000
OS2 Ot SHol & A 4,500
O0s=EXAE H=stia =& 20,000
OO0ts=XA4E BURU =X 10,000
ANeotsdH 294 XA 7,968,480 7,463,794 504,686
= 6,129,600
=) 1,838,880
308 XXM SOIA 7,968,480 7,463,794 504,686
= 6,129,600
=) 1,838,880
01 IXNHHBNEES 7,968,480 7,463,794 504,686
OXdotsdH 2EXA 7,968,480
= 6,129,600
< 1,838,880
XS otsdH K& 292,413 292,413 0
= 224,933
< 67,480
308 XX EHH SOl A 292,413 292,413 0
= 224,933
< 67,480
01 X HHILEES 292,413 292,413 0
Of=X490tsdH XA 292,413
= 224,933
< 67,480
SE+==28d NI0tsdH =K 137,754 137,754 0
= 105,966
S 31,788
308 A EHHSOIA 137,754 137,754 0
= 105,966
< 31,788
01 HIXNHHNBMNEES 137,754 137,754 0
saexg NAOSHEH XX 137,754
= 105,966
= 31,788
EQRE NYotsdH FIAA 85,363 85,363 0




NENC RN SN =X
M Ots=2XNAMEAXR
el NGsSES AR (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 65,664
< 19,699
308 XX EHHSOIA 85,363 85,363 0
= 65,664
< 19,699
01 HIXNHHBNEES 85,363 85,363 0
OCER:2Y XNIotsdH FIOHXE 85,363
= 65,664
< 19,699
ANSG0otsdH SFHHd K& 410,361 672,000 A 261,639
= 304,665
< 105,696
403 XIS S X201 & 410,361 672,000 A 261,639
= 304,665
< 105,696
01 AXSHMA2E = 410,361 672,000 A 261,639
OXdotsdy &3HH X3 410,361
= 304,665
< 105,696
XNEotsdEH 2 X2 (XA ) 49,320 48,600 720
308 A EHHSOIA 49,320 48,600 720
01 HXNHHNBHELS 49,320 48,600 720
OXZotsdH 2L X 49,320
Ot =X 1 Ak 1,767,394 1,544,563 222,831
= 1,359,534
< 407,860
308 XX EHSOIA 1,767,394 1,544,563 222,831
= 1,359,534
< 407,860
01 IXNSHHBNEES 1,767,394 1,544,563 222,831
OO0ts=S XN WA IHA X & 1,767,394
= 1,359,534
< 407,860
ANG0tsdH s3SI 23 169,260 169, 260 0
= 84,630
< 84,630
307 21201 A 169,260 169, 260 0
= 84,630
< 84,630
11T MISXASEEX 169,260 169, 260 0
OXY0tsdH SHE3=SEN3H 29 169,260
= 84,630
< 84,630
QA0S IHEXN A 655,033 645,732 9,301
J| 580,409




H

raox nx
f0 2 Y

D BARN = SN =X
RS EIES
DXL R B A K

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

=) 74,624

308 XXM SO A 655,033 645,732 9,301
J| 580,409
& 74,624

01 IXNHHBNEES 655,033 645,732 9,301
ogadlE XA 18,091
J| 16,030
< 2,061
OFOlEs g&Ls BEX 3 49,064
J| 43,474
= 5,590
oY=l LR 3,318
J| 2,940
< 378
ogdots s+ XN& 584,560
J| 517,965
< 66,595

2ES0ts 188 2LAE 1,050,525 1,050,588 AB3
J| 724,500
< 326,025

308 AHAIEHHSOIA 1,050,525 1,050,588 AB3
J| 724,500
< 326,025

01 HIXNHHNBMNELS 1,050,525 1,050,588 AB3
OgEsltslss 2ZANA 1,050,525
J| 724,500
< 326,025

OHSAIE JISRY 236,580 29,385 207,195
J| 181,985
< 54,595

403 MtXISHHE X201 & 236,580 29,385 207,195
J| 181,985
< 54,595

01 AXISHHA=2E = 236,580 29,385 207,195
O0tsAlE JIs2Z 236,580
J| 181,985
< 54,595

FHANE OlsSSMH A K& 2,772,041 2,972,000 A 199,959
= 2,529,000
< 243,041

308 XtXI &M S0l & 2,772,041 2,972,000 199,959
=2 2,529,000
< 243,041

01 HXNHHNBHEELS 2,772,041 2,972,000 A 199,959
OFAANE OtsSEAMHIA X 2,772,041
= 2,529,000




M ox
40 5 4

D EAER=
PSS XAMEIAXE
P NGOt SESAE XA

% - 4 14
A 2H I BAEA) - HRA e HlDE2

| == 243,041

It=sEsdEged 53 123,200 0 123,200
= 112,000
< 11,200

308 AHXIEHHSOIA 123,200 0 123,200
= 112,000
< 11,200

01 X SHHBA&E 123,200 0 123,200
O0tsE3d8EY 123,200
2 112,000
< 11,200

IIEAE0IS YHES 2K 33,800 33,800 0
= 23,660
< 10,140

201 Let24E] 33,800 33,800 0
= 23,660
< 10,140

02 23224l 33,800 33,800 0
Ot sl &0ts = & 33,800
= 23,660
< 10,140

Ot= L& RI& A & , 125,466 890,592 234,874
= 997,248
< 128,218

308 MXIEHSOIH , 125,466 890,592 234,874
= 997,248
< 128,218

01 HXNHHBHELS , 125,466 890,592 234,874
O0tsZEX& , 125,466
= 997,248
< 128,218

2s35=0s NExE ,106,928 522,796 584,132
= ,016,640
S 90,288

308 XX EHSOIA ,106,928 522,796 584,132
= ,016,640
< 90,288

01 X SHHEB&E ,106,928 522,796 584,132
ESEZ0tS , 106,928
= ,016,640
= 90,288

IIEREXNJAEH 29 537,917 511,951 25,966

307 21201 A 537,917 511,951 25,966

05 RIZt2IE = 537,917 511,951 25,966
OJEEXNE 537,917




M ox
40 5 4

=A== 2 A

PSS XAMEIAXE

NS ESAE RS (2 &HH)
- _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
2|2 849 254,823 247,401 7,422
307 2Iz2t0| A 254,823 247,401 7,422
0OAMISXNAEHESIGHEX 254,823 247,401 7,422
OZH)|zaedy 254,823
OlsEsdEI & 29 1,914,920 1,805,372 109,548
J| 953, 160
& 961,760
201 LBt 9| 8,600 8,600 0
02 222494l 8,600 8,600 0
OtsEsdEESI|& ot E A 8,600
307 QI2t0| ™ 1,906,320 1,796,772 109,548
J| 953, 160
= 953, 160
05 QIZtREZ 1,906,320 1,796,772 109,548
O0lsEsdE)I& 849 1,906,320
J| 953, 160
& 953, 160
StHIloiolsSa e 29 A& 729,379 702, 156 27,223
J| 503,020
= 226,359
308 AXIEHSOIA 729,379 702, 156 27,223
Jl 503,020
& 226,359
01 AIXSHMENMNEX= 729,379 702, 156 27,223
Osttimloiotsae 29X 729,379
J| 503,020
=} 226,359
28IIHOIEE S 53,172 63,000 N9,828
308 XHXIEH SO0l & 53,172 63,000 N9,828
01 AIKSHHENEXZ 53,172 63,000 N9,828
OZ8I¥sES 53,172
ols=4 AR (8IF) 4,301,600 4,750,000 AN 448,400
308 AMXISHMSOIA 4,301,600 4,750,000 AN 448,400
01 IXHHIMNEEXTZ 4,301,600 4,750,000 AN 448,400
Oots=24l EUX& 4,301,600
AMEOIS&EIOM X 35,390 35,390 0
308 XX SHHSOIH 35,390 35,390 0
1 AXNSHHMENEXZ 35,390 35,390 0
OANMEOSEHIAN X 35,390
QI JIERAE MelXS KA 28,600 24,200 4,400
= 20,020




M ox
40 5 4

P B2A=SK= M =XE

0

FSSXAMHIAXE

P NGOt SESAE XA

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 8,580
307 2iz2to| A 28,600 24,200 4,400
= 20,020
= 8,580
11T AISIEXAIEEX 28,600 24,200 4,400
OgAINAEAEOES Melxlzs XNEH 28,600
= 20,020
& 8,580
XNEOtSHE ESAN HRMAEH XK 193,440 194,400 A 960
308 MXISHHMSOIA 193,440 194,400 A 960
01 HXHHIMNEXZ 193,440 194,400 A 960
OXGotsHdEH SAX HRIMAH K& 193,440
RESOSIEE SMAHARMAH N& 31,680 31,680 0
308 XX SHHSOIA 31,680 31,680 0]
01 AIXSHMENEXZ 31,680 31,680 0
ORESIOISIEE SAMAL ARMEH X& 31,680
NE0otsSHEH SR sits sAH 30,000 30,000 0
307 2Iz2t0| & 30,000 30,000 0
11T A EXAIEE X 30,000 30,000 0
OX<E0ot=sHdEH HMER stots =AH 30,000
SHOoiOtsS XIs&HZ 20,000 20,000 0
307 2iztol & 20,000 20,000 0
11T AISIEXAIEEX 20,000 20,000 0
OstiiIoiols XIszd = 20,000
ofsstijoe ng - 88 X 25,000 25,000 0
307 QI2t0| & 25,000 25,000 0
11T A EXAIEEX 25,000 25,000 0
Ootssjueg we & 214 25,000
Qlor =512 XN 10,500 11,400 A 900
308 XX SHHSOIH 10,500 11,400 A 900
01 AIXSHMENMNEX= 10,500 11,400 A900
OYs=sl=2 X 10,500
ols+% =20 81,064,866 68,814,128 12,250,738
= 72,796,340
& 8,268,526
308 XX EHSO|IA 81,064,866 68,814,128 12,250,738
= 72,796,340
= 8,268,526
01 AIKISHHEMNEXZ 81,064,866 68,814,128 12,250,738
Oootss+d 20 81,064,866




a2 gA=K2 SN =XEED
M Ots=2XNAMEAXR
el NGsSES AR (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 72,796,340
=) 8,268,526
Ots+=4 2EX& 25,660 25,700 A 40
= 22,400
< 3,260
308 A EHSOIA 25,660 25,700 A 40
= 22,400
< 3,260
01 HIXNHHNBMNEELS 25,660 25,700 A 40
Oots+g 24X& 25,660
= 22,400
< 3,260
ZAHEOLS XHE K2 48,791 46,802 1,989
= 42,887
< 5,904
308 XXM SOl A 48,791 46,802 1,989
= 42,887
< 5,904
01 AXHHBISEES 48,791 46,802 1,989
OZdAHdols HEXNE =0 48,791
= 42,887
< 5,904
ASIZSXIAIE BILAAM =2 9,960 21,840 A 11,880
201 Let24d] 9,960 21,840 211,880
01 At 22l 9,960 21,840 A 11,880
OMSISXIAIE EILAA =2 (0SS SHE I}
) 9,960
OISESHE2IIZ JisE2d 83,000 0 83,000
401 AIEHI L 20 83,000 0 83,000
01 A& HI 83,000 0 83,000
OOsESEEII& HE=> 83,000
SSEE s = 2,960 0 2,960
201 Let24d] 2,960 0 2,960
01 At 22l 2,960 0 2,960
OZB3RE otsstth HYus 2,960
=Jt2&22el 3,058,599 915,853 2,142,746
ST WA 3,058,599 915,853 2,142,746
2220 24 20,000 20,000 0
203 ¥ S =&l 20,000 20,000 0
03 AIF=AH 2 =AH| 20,000 20,000 0
OEg=0 g2 20,000
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M ox
40 5 4

A== M =XE
It E2e
SEHEL RN

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 27,000 0 27,000
01 X SHMA2E X 27,000 0 27,000
O=&g Jls:d 27,000
Col J2ME oy 203,866,574 174,917,811 28,948,763
= 175,840,131
s 8,942,000
= 19,084,443
HASES 4E2F 173,553,858 148,541,376 25,012,482
= 157,147,225
< 16,406,633
22X K& A 5,716,000 4,565,000 1,151,000
= 5,716,000
308 XAHXIEHH SOl A 5,716,000 4,565,000 1,151,000
= 5,716,000
01 HIXNHHBNEES 5,716,000 4,565,000 1,151,000
O2da =KX &AL 5,716,000
= 5,716,000
MA=H KA 163,649,047 142,453,812 21,195,235
= 148,203,000
< 15,446,047
308 XtXIEHHSOIA 163,649,047 142,453,812 21,195,235
= 148,203,000
= 15,446,047
01 X HHILEES 163,649,047 142,453,812 21,195,235
OMASN 163,649,047
= 148,203,000
= 15,446,047
HMEHSOH X 1,195,445 1,354,858 A~ 159,413
= 1,129,000
< 66,445
308 A EHHSOIA 1,195,445 1,354,858 A 159,413
= 1,129,000
< 66,445
01 HXNHHNBHEELS 1,195,445 1,354,858 A 159,413
Ot EH=0 K& 1,195,445
= 1,129,000
< 66,445
WESHXH 146,817 167,706 A 20,889
308 XXM SO0l A 146,817 167,706 A 20,889
08 WEII 20 HEtE X 146,817 167,706 A 20,889
Ouss0i& 146,817
MAEE 0IMEX 0tA3 B2 2,846,549 0 2,846,549
= 2,099,225
< 747,324




a2 BARTR SN =X
o J|2ME O
el NASS dE2% (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 2,846,549 0 2,846,549
= 2,099,225
& 747,324
01 HIXNHHBHNEELES 2,846,549 0 2,846,549
OMASE DIMEX O0tA3 B2 2,846,549
= 2,099,225
= 747,324
HASE AHEXE XA 30,312,716 26,376,435 3,936,281
2 18,692,906
as 8,942,000
=) 2,677,810
NEZZ ALY 12,574,821 10,493,077 2,081,744
= 11,812,740
< 762,081
308 XXM SO0 A 12,574,821 10,297,377 2,277,444
= 11,812,740
< 762,081
01 IXNSHHBNEES 12,574,821 10,297,377 2,277,444
O Z2ZArY 12,574,821
=2 11,812,740
< 762,081
ANAXadH23H X 2,143,094 2,066, 144 76,950
= 2,143,094
308 MtXIEHMSOIH 2,143,094 2,066, 144 76,950
= 2,143,094
01 X HHILEES 2,143,094 2,066, 144 76,950
OXYxadE 294l 2,143,094
= 2,143,094
NExtgdy 43 X& 95,200 95,200 0
308 X EHSOIA 95,200 95,200 0
01 HIXNHHNBHELS 95,200 95,200 0
OXEAY 243t =& ALZEHl XI& 95,200
ZATEHEH 224 X2 530,400 515,000 15,400
= 371,280
=) 159,120
307 glz2+ol & 530,400 515,000 15,400
2 371,280
=) 159,120
10 ALSISXAIEHE2EH EX 530,400 515,000 15,400
OZdigd e 24l 530,400
= 371,280
< 159,120
ZATEHAEH ALSH XA 20,000 20,000 0
307 21201 A 20,000 20,000 0




AR AN SN =X
o J|2ME O
G MASES NEXNEY X (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
11T A EXAIEEX 20,000 20,000 0
OZAXEHEH AFHH| 20,000
ANeddz2 A 820,176 1,085,278 A 265,102
2 771,442
= 48,734
308 XNXISHH SO0l & 820,176 1,085,278 A 265,102
= 771,442
& 48,734
01 IXHHIMNEXZ 820,176 1,085,278 A 265,102
Ooxgdda= 820,176
= 771,442
& 48,734
XHECHE O 3 14,000 14,000 0
307 212t0| & 14,000 14,000 0
11 A EXAIEEX 14,000 14,000 0
OX&ECHE U3 14,000
SIS SEHAY XS 3,483,527 2,626,445 857,082
= 3,061,000
= 422 527
308 XHXIEHSOIA 3,483,527 2,592,240 891,287
= 3,061,000
= 422 527
01 AIXSHMEMNEX= 3,483,527 2,592,240 891,287
O3 UINSETAME(1) I 590,000
= 590,000
OXAR A LIS ESHAS(II) XA 2,126,829
= 1,744,000
& 382,829
OFUHEZ U SESEANY N 766,698
= 727,000
=} 39,698
HedIssSEAE X 94,000 121,000 A 27,000
= 94,000
308 XXIGHH SO0l & 94,000 121,000 A 27,000
= 94,000
01 IXHHIMNEXS 94,000 121,000 A 27,000
OIS &EANYE XS 94,000
= 94,000
HFUNEHXAMYE XA 352,000 0 352,000
= 352,000
308 MXISHMSOIA 352,000 0 352,000
= 352,000
01 IXHHIMNEEXTZ 352,000 0 352,000
OFYEUNESAHEAYE XS 352,000




Az BASK= FMSXNEHY
o J|2ME O
2 MASSE HENE N (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| = 357,000
JbARZESE 22 2te| At AFEHl K& 1,319,145 1,099,845 219,300
o 1,185,000
< 134,145
308 AHXIEHHSOIA 1,319,145 1,099,845 219,300
s 1,185,000
< 134,145
01 HXNHHNBHNEELS 1,319,145 1,099,845 219,300
OJIArZHE ZE2elAb At 1,319,145
s 1,185,000
< 134,145
NS ASI MBI ASERALE =& 8,741,553 8,240,446 501,107
z 7,757,000
< 984,553
202 o4dl 1,800 1,429 371
s 1,260
< 540
01 = LH o4 1l 1,800 1,429 371
OX AR MBI A SEXHALY =& O] 1,800
s 1,260
< 540
307 21201 A 223,985 360,843 A 136,858
s 156,790
< 67,195
11T AL S XA E = 223,985 360,843 A 136,858
OXYAEIMEI A R3S 29 223,985
as 156,790
< 67,195
308 XXM SO0 A 8,515,768 7,878,174 637,594
s 7,598,950
< 916,818
01 IXNHHBNEES 8,515,768 7,878,174 637,594
OX YA MEl & FE XA 8,515,768
s 7,598,950
< 916,818
NSASIMEIA HEAGE 29 124,800 0 124,800
= 87,350
= 37,450
307 21201 A 124,800 0 124,800
= 87,350
< 37,450
11T MISXAISEEX 124,800 0 124,800
OXZGASI MHI A HEAMHE 23 124,800
= 87,350
< 37,450




o

530,000

2 RA - ZH-BR(EN) - HREAY - BYS il &t o il
EsMHA X 336,004,662 322,248,447 13,756,215
= 197,966,656
< 138,038,006
25t EsAHMHA = 336,004,662 322,248,447 13,756,215
= 197,966,656
< 138,038,006
dF0t 282 AA 139,453,434 130,584,776 8,868,658
= 111,894,000
< 27,559,434
308 XX EHH SOl A 139,453,434 130,584,776 8,868,658
= 111,894,000
< 27,559,434
01 HXNHHBHELS 139,453,434 130,584,776 8,868,658
Ogwot 282 XA 139,453,434
= 111,894,000
= 27,559,434
gus 282 A2 11,266 10,452 814
308 XX EHHSOIA 11,266 10,452 814
01 AXNSGHBLEES 11,266 10,452 814
ogl=zs B3 XA 11,266
Sy 29 74,879,160 76,681,800 A 1,802,640
308 XXM SOIA 74,879,160 76,681,800 A 1,802,640
01 IXNHHBNEES 74,879,160 76,681,800 A 1,802,640
OFcltd 24 74,879,160
rgegssg XJ 34,069,042 34,789,213 AT720,171
= 28,321,000
< 5,748,042
308 XX EHH SOl A 34,069,042 34,789,213 AT20,171
= 28,321,000
< 5,748,042
01 X HHILEES 34,069,042 34,789,213 AT20,171
oigzgs=4g XA 34,069,042
= 28,321,000
< 5,748,042
Helold &= 1,590,000 540,000 1,050,000
= 1,060,000
S 530,000
403 MHXSHHSA=0l& 1,590,000 540,000 1,050,000
= 1,060,000
< 530,000
01 X SHHMA2E X 1,590,000 540,000 1,050,000
ONE0lE &3AY 1,590,000
1,060,000




M ox
40 5 4

&
COheEt ESAHIA =

- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2

Helol& JsE 1,297,356 788,724 508,632
= 864,904
& 432,452

403 XX SHHS K201 & 1,297,356 788,724 508,632
= 864,904
o 432,452

01 XIS AS2E X 1,297,356 788,724 508,632
ONeold Jised 1,297,356
= 864,904
=} 432,452

BWAR olAHl X 47,258,564 JA42 247 ,816,317
= 33,063,000
& 14,195,564

308 XNXIGHSO0l& 47,258,564 V442 247 ,816,317
= 33,063,000
== 14,195,564

01 HXHHBIMNEXS 47,258,564 442,247 ,816,317
OBsna3 oAl X3 47,258,564
2 33,063,000
o= 14,195,564

BSUA2 HRMA N () 13,231,155 ,956, 240 274,915
= 9,440,260
=} 3,790,895

308 AMXISHMSOIA 13,231,155 ,956, 240 274,915
= 9,440,260
= 3,790,895

01 AIXSHMENEXZ 13,231,155 ,956, 240 274,915
OWAIZ2S 8FINLH X 10, 180,660
= 7,303,260
= 2,877,400
OsZE EKDAI EE€222¢ 3,050,495
= 2,137,000
o= 913,495

BE2WX2A MMM XN (BXAH) 9,818,085 ,305,208 512,877
= 7,045,000
= 2,773,085

308 MXISHMSOIA 9,818,085 ,305,208 512,877
= 7,045,000
& 2,773,085

01 IXHHIMNEXTZ 9,818,085 , 305,208 512,877
OBXDAN X& 9,818,085
= 7,045,000
= 2,773,085

PSR MM K (HHDA) 593,480 2,584,000 ~1,990,520
=2 296,740
o= 296,740




ERCEEVE SN =XEED
dM: EFAMHA TR
S9l: Chst BSAMHIA = (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 593,480 2,584,000 A 1,990,520
=2 296,740
< 296,740
11T M SXASE EX 593,480 2,584,000 A 1,990,520
OCHXM At 24 1| 593,480
= 296,740
< 296,740
ANZ B2 MM X2 (CHA LA 2,033,500 0 2,033,500
= 1,481,260
< 552,240
308 XXM SO A 2,033,500 0 2,033,500
= 1,481,260
< 552,240
01 AXHHBILEES 2,033,500 0 2,033,500
OANZ ESDAZ MM X2 (A LA 2,033,500
2 1,481,260
< 552,240
38 0gold 29 3,367,880 3,896,518 A 528,638
= 2,410,000
< 957,880
308 MtXIEHMSOIH 3,367,880 3,896,518 A 528,638
=2 2,410,000
< 957,880
01 HXNHHNBHEELS 3,367,880 3,896,518 A 528,638
O33g0eoly 29 3,367,880
= 2,410,000
< 957,880
Helold 2EX& 1,427,856 992,565 435,291
= 1,010,343
< 417,513
308 XX EHSOIA 1,427,856 992,565 435,291
= 1,010,343
< 417,513
01 HIXNHHBNEES 1,427,856 992,565 435,291
O w=Hl 428,771
= 308,754
< 120,017
Ox&2gHl 832,114
= 585,216
< 246,898
Os0E &AM gaoolE X3 166,971
= 116,373
= 50,598
ANZIHE R X3 (d48X) 38,020 549,000 A 510,980
= 19,010
< 19,010
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= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t

307 glz2tol & 38,020 0 38,020
= 19,010
< 19,010

11T M SXASE EX 38,020 0 38,020
OAZHH BsX& 38,020
= 19,010
< 19,010

ANZ ANZRHES X2 (FAEX) 811,485 0 811,485
= 540,990
< 270,495

308 XXM SO A 811,485 0 811,485
= 540,990
< 270,495

01 IXNSHHBANEES 811,485 0 811,485
OAlZ AIZHE=S XI& 811,485
= 540,990
< 270,495

ANZHRIE® XN (H2EX) 15,000 15,000 0
= 10,000
< 5,000

403 A X EHHS =0l A 15,000 15,000 0
= 10,000
< 5,000

01 X SHHMA=2LE L 15,000 15,000 0
OAMZHES X& 15,000
2 10,000
< 5,000

Helold 2LZ2LHEH 22 17,020 15,168 1,852
= 8,510
< 8,510

307 glz2tol & 17,020 15,168 1,852
2 8,510
< 8,510

11T M Z2XAISE EX 17,020 15,168 1,852
OO0l ER22LHE 29 17,020
2 8,510
< 8,510

AT Oelold 222LHEEH 2 42,735 26,250 16,485
= 28,490
< 14,245

308 XtXIEHH SO0l A 42,735 26,250 16,485
= 28,490
< 14,245

01 AXHHBIYEES 42,735 26,250 16,485
OAMZ HEOIEREL2Z2LIHEH 29 42,735




NENC RN SN =X
dM: EFAMHA TR
Sl CHYst BSAHIA 0 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 28,490
< 14,245
Helold waed XA 113,850 76,090 37,760
= 56,925
< 56,925
307 glz2tol & 113,850 76,090 37,760
= 56,925
< 56,925
05 RIZtRIE = 113,850 76,090 37,760
Oongos W 2ddX 113,850
= 56,925
< 56,925
SEECSESHNJLH 29 325,000 980, 100 A 655,100
2 162,500
< 162,500
307 glz2tol & 325,000 310,100 14,900
= 162,500
< 162,500
05 RIZtIE = 325,000 310,100 14,900
Os=E=s0EEN3dH 29 325,000
= 162,500
< 162,500
AL HHXIAI (24]) 37,264 36,332 932
= 18,632
< 18,632
307 21201 A 37,264 36,332 932
= 18,632
= 18,632
11T AR SXAIEE = 37,264 36,332 932
ONEHEERE HHX 37,264
= 18,632
=) 18,632
SMEHERE BIXIALS 80,520 71,470 9,050
307 glz2tol & 80,520 71,470 9,050
11T M SRASE EX 80,520 71,470 9,050
OHYHE2¥ HHXI(XHA) 80,520
I L=EAE (YY) 122,500 88,000 34,500
2 61,250
< 61,250
307 glz2+ol & 122,500 88,000 34,500
= 61,250
< 61,250
11T MISAASEX 122,500 88,000 34,500
OJE =AY 122,500
= 61,250

- 22 -




22=2X= M =SXNZH
EFMHA X2
Chret SsAHA CER-ED
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
| < 61,250
IIELSALS (Al Z) 25,000 10,000 15,000
= 25,000
308 XXX S0 A 25,000 10,000 15,000
= 25,000
01 AXNSHBLAEES 25,000 10,000 15,000
O LAY 25,000
= 25,000
ZEtE FEES IR0 SsSMHA 188,048 0 188,048
= 124,544
< 63,504
308 XXM S0 A 188,048 0 188,048
2 124,544
< 63,504
01 IXNHHBNEES 188,048 0 188,048
OZgHE 3EEs K03 MU A 188,048
2 124,544
< 63,504
JEtd HHASS IR0 SSAMUIA(EHEY) 60,745 0 60,745
= 24,298
= 36,447
307 21201 A 60,745 0 60,745
= 24,298
< 36,447
11T AL S XA E = 60,745 0 60,745
OZgod FUES RIS AMEIA 60,745
= 24,298
< 36,447
SOISEANJAHEH AMZ2EL X 29 69,950 68,000 1,950
307 glz2tol & 39,950 32,000 7,950
11 ALS S XALEE = 39,950 32,000 7,950
O=FO0ISEANJMEH ANz X 39,950
308 AXIEtM S0l A 30,000 36,000 A 6,000
01 IXNHHBAMNEES 30,000 36,000 26,000
OS0ISEXNJHH AMZ2x X 29 30,000
SEECSUEFNAJLAH s0IHESY KA 35,000 0 35,000
307 21201 A 35,000 0 35,000
11T M3 SXASEEX 35,000 0 35,000
OSE=EES0ISENMEEH s0IMdEgs X2 35,000
SI=EESOISENJEEH 22/d X3 24,000 0 24,000
307 gl2tol & 24,000 0 24,000
05 RIZHRIE 3 24,000 0 24,000

_23_
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NENC RN SN =XEY)
dM: EFAMHA TR
ool st EsAUA 2 (&2 d &)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OO0l HItelE ZEAY 10,000
SSE0HE0E SZMedl X 10,800 8,400 2,400
403 MtXSHHE X0l E 10,800 8,400 2,400
01 XM A=2EE 10,800 8,400 2,400
OZ2380eo0ld &Zisdbl X 10,800
A HMLH X 2,862,720 2,998,044 N 135,324
308 XtXIEHH SOl A 2,862,720 2,998,044 A 135,324
01 X HHBLEES 2,862,720 2,998,044 AN 135,324
OE=swA@d MRHMLH X 2,862,720
EswAHA HI2s5+Y X 224,280 228,753 A4, 473
308 MtXIEHMSOIH 224,280 228,753 A4, 473
01 HXNHHNBHELS 224,280 228,753 A4, 473
OEsnI Fll2s+Y X 224,280
ESNAA AMLAZRE A2 544,176 544,176 0
308 XXM SO A 544,176 544,176 0
01 HIXNHHBNEES 544,176 544,176 0
ESUAY AN2AZR=Y X 544,176
ZOHOIEZHE0IE 28 elAdd XA 75,432 73,332 2,100
308 XXM SOIA 75,432 73,332 2,100
01 AXHHBILEES 75,432 73,332 2,100
OHMHOIEZ0E0lE 283 1Add XA 75,432
S8 "o Heod ieE2d N 49,920 49,920 0
308 MtXIEHMSOIH 49,920 49,920 0
01 AXHHILEES 49,920 49,920 0
Osd geol Heold zex2dg9 N 49,920
Helold otold=(2]) =<0l X 471,710 471,710 0
308 AHAIEHHSOIA 471,710 471,710 0
01 HXNHHNBHEELS 471,710 471,710 0
O0lglold otolg=(2']) &<0 X« 471,710
ool M IBHE 2ME X 46,000 50,800 A 4,800
308 XXM SO A 46,000 50,800 A 4,800
01 HIXNHHBNEES 46,000 50,800 A 4,800
Oogold et ZBHsa Z2MEXA 46,000
Ogols SJ1838J 2gH X& 194,159 194,159 0
308 XtXIEHH SOl A 194,159 194,159 0
01 AXHHILEES 194,159 194,159 0
Ooogold sJ1838J 248 X& 194,159

_25_




a2 gA=K2 SN =XEED
dM: EFAMHA TR
oSl ChEt BRAHIA B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Olegl0lSsi g dRIESE? E2 368,550 0 368,550
308 AHAIEHHSOIA 368,550 0 368,550
01 HXNHHBHELS 368,550 0 368,550
Oogolssxzg dRt12s&27 22 368,550
HY2HIH (SR 92,285 92,285 0
Jl= &l 92,285 92,285 0
JlE&l 92,285 92,285 0
201 ¢er24| 22,175 22,175 0
01 At 22l 22,175 22,175 0
OJl2+=EHl 9,050
OJle sl 13,125
202 O4Hl 47,250 47,250 0
01 = LH A HI 47,250 47,250 0
Ol 47,250
203 R =&t 22,860 22,860 0
01 122 =4H 6,600 6,600 0
OEH=EX=2E 6,600
04 FANSEHE=LH 16,260 16,260 0
O=sX &1t 4,200
O QI Z0H el It 4,200
OAdZ3 4,860
OAl o oF b M 1t 3,000
Hees(2XNF ) 42,460,312 39,039,597 3,420,715
WEHHX = 42,460,312 39,039,597 3,420,715
LHEHeH X = 42,460,312 39,039,597 3,420,715
701 JIEtSI HSEES 42,460,312 39,039,597 3,420,715
01 JIEteI HE == 42,460,312 39,039,597 3,420,715
Od==0SE3H &5 42,460,312
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= o
A & 0l & AF 2 E A A
20208 = =0l LB EA=SX= ~ EHASEX=
A= BRI SA IO Ol D
Hu: 2I|@ LeME K
t¢elr 25X Mbla X& (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
L OV ZHOH o1 It 787,708,040 675,826,516 111,881,524
= 694,064,560
J| 420,000
= 93,223,480
2O sME X 633,600,225 543,012,565 90,587,660
= 565,964,844
J| 420,000
< 67,215,381
L=57X HHA X&A 595,603,054 509,404,544 86,198,510
= 554,829,863
J| 420,000
< 40,353, 191
COFHMAENSER =& 21,800 21,800 0
201 et 18,000 18,000 0
01 At 22l 18,000 18,000 0
Ot & ==ZHl 18,000
203 YR =&l 3,800 3,800 0
03 AIHF=XH R =AH| 3,800 3,800 0
O FMHAFRFA 3,800
Z2EXII0IALY 56,520 56,520 0
308 XXM SO0l A 56,520 56,520 0
01 IXNHHBNEES 56,520 56,520 0
OZ2ERIII0IA 56,520
d2Y 249 & 57,836 57,413 423
308 XtXIEHH SO0l A 57,836 57,413 423
01 AXHHIYEES 57,836 57,413 423
OZzg 2d=E =2 & 37,836
OZz2Y 3 & W=l 20,000
d2g durgy(¢=3dl) & 3,853,200 4,256,000 A 402,800
= 2,028,000
=) 1,825,200
308 XXM SOl A 3,853,200 4,256,000 A 402,800
= 2,028,000
=) 1,825,200
01 IXNHHBNEES 3,853,200 4,256,000 A 402,800
OZzg YWty (L =3H) A& 3,853,200
= 2,028,000
< 1,825,200
S MISXAIE FISEEA 9,600 16,800 AT7,200
201 Let24d] 9,600 16,800 AT7,200
02 2324l 9,600 16,800 AT7,200
O& AM3=XAE HIHHEH 9,600
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2A=X = SN R
2% LM X
e AHA X

2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
dzge ZA9XJAMH 2g 289,240 284,460 4,780
2 144,620
< 144,620
307 gl2tol & 289,240 284,460 4,780
= 144,620
< 144,620
03 BIZIEHHEH2HHIEX 219,540 206,643 12,897
OZ=2Y ZA9XJAHdH 298l 219,540
= 109,770
< 109,770
11T MISXASEX 69,700 77,817 A8, 117
OZdzd ZAXNJAHE A 69,700
= 34,850
S 34,850
Z2Y =3 Zzd 22/ed X 97,977 95,097 2,880
308 XX EHH SOl A 97,977 95,097 2,880
01 AXSHBLEELS 97,977 95,097 2,880
OZ2Y =3 T2y &gl X 97,977
9988 &= Lt=0l 1,938,212 1,783,816 154,396
307 glz2tol & 60,000 48,000 12,000
11 ALSI S XA E = 60,000 48,000 12,000
09988 dislis 2249 T2 3L HSF 48,000
09988 d=Lt+0l Exn= 12,000
308 XXM S0 1,878,212 1,735,816 142,396
01 AXSGHBLELS 1,878,212 1,735,816 142,396
09988 HSLIS0IALY 1,878,212
COYESEAHA HEIB 2Y 107,190 62,274 44,916
= 75,030
< 32,160
307 2I2+0| & 107,190 62,274 44,916
= 75,030
= 32,160
11 AISISAAISEE = 107,190 62,274 44,916
OLodE=EAMEIA HEI 2 29 107,190
= 75,030
< 32,160
Lo ESEMA 18,893,650 11,551,835 7,341,815
= 16,741,170
< 2,152,480
308 XX ©H A S0 & 18,893,650 11,551,835 7,341,815
=2 16,741,170
< 2,152,480
01 IXNHHBAMNEES 18,893,650 11,551,835 7,341,815
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M ox
40 5 4

2 - 4
2.2A BB (3) - KRA Ol &k o8 il HlnE2
308 XXM SO0 A 619,080 917,565 A 298,485
01 AXNSGHBLAEES 619,080 917,565 A 298,485
OLoldxiel XA (KA 619,080
=43 511,718,948 450,416,461 61,302,487
= 485,851,043
< 25,867,905
308 XXM S0l A 511,718,948 450,416,461 61,302,487
= 485,851,043
< 25,867,905
01 IXNSHHBMNEES 511,718,948 450,416,461 61,302,487
(OF) = 511,718,948
= 485,851,043
< 25,867,905
S dsEHAY 10,000 10,000 0
308 XtXIEHHSOIA 10,000 10,000 0
01 AXHHILEES 10,000 10,000 0
OS2 SLHAZ 10,000
tHeteolal AlZ X2l A= 2E X 69,869 67,564 2,305
308 XXM SO0 69,869 67,564 2,305
01 AXSHBLEES 69,869 67,564 2,305
Otist= 23 AMZXE AMR= 69,869
Atgtelstel =01 X & 11,360 11,360 0
308 XXM SO0l 11,360 11,360 0
01 HIXNHHBNEES 11,360 11,360 0
OXdlAH K& 4,000
OMgelgdtz &322 X2 7,360
LOWItAIE JIsEE 545,000 168,000 377,000
403 MHXSHHSA=0l& 545,000 168,000 377,000
01 X ESHHMA=E L 545,000 168,000 377,000
OLQNIAIE JIs2Z 545,000
Lolglat & LOoIEEgsENa HE 30,000 0 30,000
207 A RO H| 30,000 0 30,000
01 289 30,000 0 30,000
Okeolglat & Lolsg=ska A BEHEx
29 30,000
LolskAd XA 37,997,171 33,608,021 4,389, 150
= 11,134,981
= 26,862,190
ZALAE EX K3 AL 440,000 900,000 A 460,000
= 440,000




AR EAHEX=2 A ¢ S OoIEOH oD
M #2)|® LsME XY
S SoA=SXAIE X3 (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
403 XX S S X201 A 440,000 900, 000 AN 460,000
= 440,000
01 HXHNMAHEE = 440,000 900, 000 AN 460,000
O&AMAAE EXXNE AE 440,000
= 440,000
ZAAIE XX AMY(BEZ =4) 500,000 0 500,000
= 500,000
403 XX S M S X201 A 500,000 0 500,000
= 500,000
01 MXHHAE2E = 500,000 0 500,000
OXFAAE EXXE MI (2 =S4) 500,000
= 500,000
CA=SXANE JIseEd 336,924 317,148 19,776
= 259,171
o= 77,753
403 XIS SKH=0l & 336,924 317,148 19,776
= 259,171
o= 77,753
01 XXM A 22X 336,924 317,148 19,776
OLQ=EXANAE Js22 336,924
= 259,171
== 77,753
XNOHEESE AISESESAE 8,664,156 5,373,263 3,290,893
= 8,059,680
= 604,476
403 XXM S K201 A 8,664,156 5,373,263 3,290,893
= 8,059,680
== 604,476
01 XHNMAHEBE = 8,664,156 5,373,263 3,290,893
OXNMMESE LoQAAE L F0l2 ESAIA
= 8,664,156
= 8,059,680
== 604,476
LOIMEIAIE X & 1,585,198 1,603,539 AN 18,341
= 1,404,606
< 180,592
308 AXISHXSOoIH 1,585,198 1,603,539 AN 18,341
= 1,404,606
= 180,592
01 AXHNNBMNEXTZ 1,585,198 1,603,539 AN 18,341
OLQAdZ AL 2H 1,585,198
= 1,404,606
& 180,592
LOIAIAI 2 AIE20 K& 25,509, 165 24,472,000 1,037,165
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Ax: BASIKS M QI ZOoHel
M #2)|® LsME XY
@ Z=EXAE X (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 25,509, 165 24,472,000 1,037,165
01 HIXNHHBHNEELES 25,509, 165 24,472,000 1,037,165
OLe@AILI2 ANIdSHIA 25,509, 165
LoESHEEIS 23 754,812 694,624 60, 188
= 377,406
< 377,406
307 glz2+ol & 754,812 694,624 60, 188
= 377,406
< 377,406
10 ALSISXAIEEE2EHEX 721,902 632,108 89,794
OLQEs d2J& 2Zd X& 721,902
= 360,951
< 360,951
11 ALS S XALEE = 32,910 62,516 A 29,606
OLolEs M2I|& Al XA 32,910
= 16,455
< 16,455
stiimoi=e 82 &H 188,236 185,412 2,824
= 94,118
< 94,118
307 glz2tol & 188,236 185,412 2,824
= 94,118
= 94,118
10 AL SXAIEEE2EHEX 132,636 116,810 15,826
O dE&H 2dH| 132,636
= 66,318
< 66,318
11T ALSI S XAIEE = 55,600 68,602 A 13,002
Osfthulo -2l HEEHEH At HI 55,600
= 27,800
< 27,800
QLUES A LA 3,680 0 3,680
201 Yer2 2t 1,680 0 1,680
01 At 22l 1,680 0 1,680
ORLBSA dRFE S I 1,680
202 044l 2,000 0 2,000
01 SLHOYI 2,000 0 2,000
ORYESA W=sII2 AT&&EH ¢l 2,000
SA=SXAE SAR LS 10,000 10,000 0
307 21201 A 10,000 10,000 0
11 ABI=Z XA R 10,000 10,000 0
OLQU=EXAE SAX 1= 10,000
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AR A== SA L OIE OOl
B B8R LEME X
& < A=XAE &
SH - SH(EA) - MRAY - BYS Of &t o4 il
CU=SXAE ANE=EH 5,000 5,000
202 04 4 5,000 5,000
01 S LHOYI 5,000 5,000
OLQ=XXE NEEH ol 5,000
EPEES 153,976,002 132,689,845
= 128,087,716
= 25,888,286
ol ol d g 139,799,038 120,687,063
= 120,961,156
= 18,837,882
oIt L8s N2 1,339,108 1,263, 165
307 @lztol & 1,331,608 1,257,165
M ASIMNSEX 1,331,608 1,257,165
Qe SE2EAE 153,174
OXNEFM NEA2LMEH 23 135,773
Ol HEX2dH 292 125,700
OBYAE 4X ANUFTH 2 55,913
QX HASXI=XNJAMH 29 142,128
OXHZ OlsMHHIA K& 22,290
OMItoel & & XN A 63,920
OFe S 29 37,150
OZHEY oy & SEHH 23 37,150
O=0ua=2d 18,000
O SXNSTAE 80,000
OWEHEM MNISHE 2 30,900
OAIZT e HEdEa AHE2Y 58,960
oFofelel & JIgdA 40,000
O XS & A 12,000
O gsZEAN 10,000
Osotelel & IS A 10,000
oMM Headegsd 24 34,400
O = 235 XA AMY 37,150
OZOQ OlS=EXABIAAMST X 165,100
SSHUTHML A0IUHS XHO0ISAY 35,400
OHe HEStWSAEY 26,500
308 Xt &M SO0I A 7,500 6,000
01 XM ZBEEES 7,500 6,000
OSSZMYU RS 7,500
OB R A TRl ABME 29 314,816 212,400
= 157,408
= 157,408
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a2 BARTR SH ol E oD
HE: Zoje =SXNEA
Sl Zojel MOE s (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
307 2Iz2to| & 203,250 212,400 AN9,150
= 101,625
& 101,625
11T A EXAIEEX 203,250 212,400 N9,150
O&OMAEZII| Atddl2tel AMBEHH 29 203,250
= 101,625
=} 101,625
402 SI2FXHE0| & 111,566 0 111,566
= 55,783
& 55,783
02 X2 A E X (0| X THS) 111,566 0 111,566
OFOMAZED|D| Atcll2el AIBEHEE 29 111,566
= 55,783
& 55,783
ool MEEXD|D| A 71,372 65,497 5,875
= 60,742
o= 10,630
308 XX SHAHSOIH 71,372 65,497 5,875
= 60,742
o= 10,630
01 AIXSHMENEXZ 71,372 65,497 5,875
OO X010 XN& 71,372
= 60,742
= 10,630
ol o =Hl K& 1,421,656 1,589,858 A 168,202
= 1,209,920
= 211,736
308 XHXIGH SO0l & 1,421,656 1,589, 858 A 168,202
= 1,209,920
= 211,736
01 AIXSHHEMNEXZ 1,421,656 1,589,858 A 168,202
OZ0fel of2Hl N 1,421,656
= 1,209,920
& 211,736
ES=244 63 ANEAZA 2A 16,500 16,500 0
308 MXISHHSOIA 16,500 16,500 0
01 HXHHIMNEXS 16,500 16,500 0
O&s=4d b3 Ngasgas 29 16,500
HOIEQH BMHYFEI|2 24 48,000 42,000 6,000
308 XX SHHSOIH 48,000 42,000 6,000
01 AIXSHMENEXZ 48,000 42,000 6,000
OHQI &0 M=) |2 2H 48,000
MO (IIx) 3,733,600 3,715,400 18,200
= 2,872,000
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NENC RN SH ol E oD
M HOMC SXNSE
Sl Zojel MOE s (el @2)
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
= 861,600
308 XX G SO0l & 3,733,600 3,715,400 18,200
= 2,872,000
= 861,600
01 AIKSHHENMNEXZ 3,733,600 3,715,400 18,200
OXFMHLEHE(II=x) 3,733,600
= 2,872,000
& 861,600
ZOHSE (XA S) 3,009,500 2,988,700 20,800
= 2,315,000
& 694,500
308 MXISHMSOIA 3,009,500 2,988,700 20,800
= 2,315,000
& 694,500
01 IXHHIMNEXTZ 3,009,500 2,988,700 20,800
OXMLEH (AR S) 3,009,500
= 2,315,000
o=t 694,500
HojelHA= 36,661,448 33,484,714 3,176,734
= 32,484,827
= 4,176,621
308 XX A S0l & 36,661,448 33,484,714 3,176,734
=2 32,484,827
& 4,176,621
01 AIXSHMENMNEX= 36,661,448 33,484,714 3,176,734
OHMeA= 36,661,448
= 32,484,827
= 4,176,621
HHEZAMANNE 29 38,046 38,046 0]
= 22,380
& 15,666
308 XHXIGHH SO0l & 38,046 38,046 0
= 22,380
& 15,666
01 AIXSHHENEXZ 38,046 38,046 0
OXMHEZAMAMAE &4 38,046
= 22,380
= 15,666
HAE AR E4atHE XA 43,450 52,140 A 8,690
= 38,500
=} 4,950
308 XtXI € M S0l & 43,450 52,140 8,690
2 38,500
= 4,950
01 X HHINMNEEXTZ 43,450 52,140 A 8,690
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EAHEX= 2N =l A0l
Zojel =NEA
ZOHQl AFOIT At (B9 ®R)
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
OWHd &R SAHIES K& 43,450
= 38,500
= 4,950
HAEEMC WEASXH 106,580 98,456 8,124
= 92,106
= 14,474
308 XHXIGHH SO0l & 106,580 98,456 8,124
= 92,106
= 14,474
01 HXHHIMNEXZ 106,580 98,456 8,124
OWAMEZEHR WEAY X& 106,580
= 92,106
= 14,474
SSHOQ X MEXRAS 360,736 270,517 90,219
= 248,784
& 111,952
308 XX SHHSOIH 360,736 270,517 90,219
= 248,784
o= 111,952
01 AIXSHMENEXZ 360,736 270,517 90,219
OZSHHQ XNSMEX A 360,736
= 248,784
= 111,952
SSEHC XNEgMEHAEH 2H 244,000 216,000 28,000
308 XX G SOl A 244,000 216,000 28,000
01 AIXISHMEMNEX= 244 000 216,000 28,000
OZE&HMQ NSEMEHEH &9 244,000
ol w=dl K& 48,000 44,200 3,800
308 XAXIGHH SO0l & 48,000 44,200 3,800
01 IXHHNIMNEXTZ 48,000 44,200 3,800
O&0elw=Hl X& 48,000
ZOHQIDISRRHE 2 253,100 246,400 6,700
307 QI2t0| ™ 253,100 246,400 6,700
05 QIZtREZ 253,100 246,400 6,700
O ZOHCIIEXNJALAEH 2 253,100
ZOoHe ESXN3 FIRS ALY 498,835 488,043 10,792
308 AHXIEHSOIA 498,835 488,043 10,792
01 AIXSHMENMNEX= 487,335 476,543 10,792
OHOMQ =X F=IXNIALE 487,335
10 B 2SO USE AN E AISH| 11,500 11,500 0
O=sZHQ oI23(HRAH) e 11,500
AZEONCIDNAE JtAXSE XHED| K& 10,000 10,000 0

_37_




a2 BARTR SH ol E oD
M HOMC SXNSE
Sl Zojel MOE s (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
308 XHXIEHSOIA 10,000 10,000 0
01 AIXISHHEMNEX= 10,000 10,000 0
OAZ2ZEOHCIINE JDIAXNSE XEI XS 10,000
S IEHE A XS 2,728,434 2,557,738 170,696
= 2,417,600
& 310,834
308 MXISHMSOIA 2,728,434 2,557,738 170,696
= 2,417,600
& 310,834
01 HXHHIMNEXS 728,434 2,557,738 170,696
OZ0HOts YL MEAHA XA 2,728,434
= 2,417,600
= 310,834
Z0Hots s =X ,121,513 1,121,322 191
= 785,059
o=t 336,454
307 212t0| & ,121,513 1,121,322 191
= 785,059
o=t 336,454
11 A EXAIEEX ,121,513 1,121,322 191
OEOOIE It d=AH ;121,513
= 785,059
& 336,454
HAHLEHRSH A 26,104 34,579 N8,475
= 23,130
= 2,974
308 XHXIEHSOIA 26,104 34,579 N8,475
= 23,130
= 2,974
01 AIKISHHEMNEXZ 26,104 34,579 N8,475
O&FMER X AdeeH2d K& 26,104
= 23,130
o= 2,974
SEAHRIER Aelad XY 18,057 18,057 0
= 16,000
& 2,057
308 AMXISHMSOIA 18,057 18,057 0
= 16,000
&< 2,057
01 IXHHIMNEEXTZ 18,057 18,057 0
oggajee Aeladg X 18,057
= 16,000
= 2,057
SIS SAXS 100,000 100,000 0
= 70,000
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Zojol 2NEX
ZOHOl MO B CERED
2 - 4
2. 2A B G(E) - KR Ol &k o8 il HlnE2
< 30,000
307 glz2tol & 100,000 100,000 0
2 70,000
< 30,000
11 AR = XA 100,000 100,000 0
Ogg el 100,000
= 70,000
< 30,000
g 22=A 67,500 50,525 16,975
= 54,000
< 13,500
307 21201 A 67,500 0 67,500
= 54,000
< 13,500
11T MISXRAIEE 67,500 0 67,500
oggEMe Z2E L AT =
X& 67,500
= 54,000
< 13,500
& YOI X A A 651,000 652,000 A 1,000
2 325,500
< 325,500
307 21201 A 651,000 652,000 A 1,000
= 325,500
< 325,500
05 RIZt2IEt = 651,000 652,000 21,000
O ZZZ0H 651,000
= 325,500
< 325,500
LA GPS RAXIEAl H 6,000 0 6,000
308 XXl & XIS Ol 6,000 0 6,000
01 XXM & &2 6,000 0 6,000
OoLg el 6,000
Zoje ESXAS0f 45,050,002 31,947,328 13,102,674
= 41,493,423
< 3,556,579
308 XXM S0 A 45,050,002 31,947,328 13,102,674
= 41,493,423
< 3,556,579
01 AXNSGHBLEES 45,050,002 31,947,328 13,102,674
OZOMe EsXA=SH 45,050,002
= 41,493,423
< 3,556,579
ZOoHQ ESXA It 70,315 0 70,315
= 64,764
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AR AN SN olEofel D
M ool 2N
9l FOHOl AOIE Bra CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 5,551
308 XXM SO A 70,315 0 70,315
= 64,764
< 5,551
01 IXNHHBNEES 70,315 0 70,315
OZOMQ EsXH IHes0 70,315
= 64,764
< 5,551
SSEL MEE N2 40,000 40,000 0
307 21201 A 40,000 40,000 0
11T MISRAMSER 40,000 40,000 0
o=z AHgsE N&E 40,000
GEEMe Blus =i 108,000 108,000 0
308 MtXIEHSOIH 108,000 108,000 0
01 HXNHHBHELS 108,000 108,000 0
OndEoe Bdus =Y 108,000
LYY BHUE T2 X2 12,000 0 12,000
308 AHAIEHHSOIA 12,000 0 12,000
01 HIXNHHBMNEELS 12,000 0 12,000
Oggzofe @ans 238 X 12,000
ZOHQI U HIEOHCQ FAE e Xt 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
11T MISXASEX 4,000 4,000 0
OFOH I HIZOHQ! FHAE e XHE 4,000
ZOHAAN=AIE D2 870,578 197,063 673,515
= 669,676
= 200,902
403 A X EHS =0l A 870,578 197,063 673,515
= 669,676
< 200,902
01 X SHHX2E= 870,578 197,063 673,515
OHMUNFAIE JIsEZ 870,578
= 669,676
< 200,902
ZOHANFAIE 2 36,246,662 34,347,111 1,899,551
= 32,117,296
< 4,129,366
308 AHAIEHHSOIA 36,246,662 34,347,111 1,899,551
= 32,117,296
< 4,129,366
01 HIXNHHNBMNEELES 36,246,662 34,347,111 1,899,551
OFMUAAN=AIE 22X A 36,246,662
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NENC RN SH ol E oD
M ool 2N
Sl Zojel MOE s (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
= 32,117,296
& 4,129,366
HolE2d HOMAUAHAFAIE XS 227,270 149,214 78,056
308 XAHXIEHSOIA 227,270 149,214 78,056
01 AIXSHMENEX= 227,270 149,214 78,056
Oelad & HF=AIE K& 227,270
HOHRIHFAIE EAK IS EEHZ XA 38,000 46,000 A 8,000
308 XHXIGHH SO0l & 38,000 46,000 A 8,000
01 AIKISHHENMNEXZ 38,000 46,000 A 8,000
OHOMAHZ=ANAY EIAXN ANEHEZS XS 38,000
ZOHAAHFAIE HEAHE SHELHES N 9,949 9,926 23
308 XNXIGHHM SO0l & 9,949 9,926 23
01 HXHHIMNEXZ 9,949 9,926 23
OXMHUAAHAF=AIE H2A4E 2SHHEH s XN 9,949
SOOI HFAE NIEEH 3,000 3,000 0
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
QOHOMHUAHFTAIE XNIEEZH 3,000
O HFAIE SAMI D= 9,000 6,000 3,000
307 2Iz2to| A 9,000 6,000 3,000
11T A EXAIEEX 9,000 6,000 3,000
OHMAHFAE SAIN DF 9,000
O HF=AIE O3 & NEMENR 10,800 12,000 A 1,200
201 LBt Y| 10,800 12,000 A 1,200
03 Al HH| 10,800 12,000 A 1,200
OHOMAHFTAILE A L M NE 10,800
O HF=AILE AH YA Ol22 XA 211,479 211,479 0
= 187,387
= 24,092
308 MXISHMSOIA 211,479 211,479 0
= 187,387
& 24,092
01 IXHHIMNEEXTZ 211,479 211,479 0
OZMHAAHAF=AIE AHIYLA 0l22 KNS 211,479
= 187,387
& 24,092
ZOHCI HFAIE QI A A EH R A} 17,000 17,000 0
201 gBt24A | 17,000 17,000 0
01 AP 22| H| 17,000 17,000 0
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Az BASK= M I E0H
M ool 2N
9l FOHOl AOIE Bra CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ST FAHESAHHA X 1,715,429 643,285 1,072,144
2 1,580,000
& 135,429
308 AHAIEHHSOIA 1,715,429 643,285 1,072,144
= 1,580,000
< 135,429
01 HIXNHHNBHELS 1,715,429 643,285 1,072,144
Oggzofel =2asMlA XA 1,715,429
= 1,580,000
< 135,429
LY R0t REUEXA 20,000 20,000 0
= 10,000
< 10,000
307 glz2+0l & 20,000 20,000 0
2 10,000
< 10,000
11T MISRASEX 20,000 20,000 0
Oggde ER0J FLusX& 20,000
=2 10,000
< 10,000
LI M2AY REUEAR 20,000 20,000 0
= 10,000
< 10,000
307 21201 A 20,000 20,000 0
= 10,000
= 10,000
11T AL S XA E = 20,000 20,000 0
OLgze Az2ag FLNEIR 20,000
= 10,000
< 10,000
ST HOUHUDNSX 16,000 16,000 0
2 8,000
< 8,000
307 glz2tol & 16,000 16,000 0
= 8,000
< 8,000
11T M SRAISE EX 16,000 16,000 0
OZZHM AN A 16,000
= 8,000
< 8,000
LI Lus SSMHHA 1,552,571 415,829 1,136,742
= 1,430,000
< 122,571
308 XXIEHH SOl A 1,552,571 415,829 1,136,742
= 1,430,000
< 122,571
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Az BASK= M I E0H
M ool 2N
9l FOHOl AOIE Bra CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 1,552,571 415,829 1,136,742
OZZHML HUE: SSHHA 1,552,571
= 1,430,000
< 122,571
TN THESXMEIA 25 14,176,964 12,002,782 2,174,182
= 7,126,560
= 7,050,404
ZOHel MAS HOIHAIE 28 XA 168,675 164,410 4,265
= 67,470
=) 101,205
307 glz2+ol & 168,675 164,410 4,265
= 67,470
=) 101,205
10 ALSISXAIEEE2EHEX 168,675 164,410 4,265
OHOMIMASEIAIE 28 X2 168,675
= 67,470
< 101,205
ZOoHe SX LRl X 2,426,221 2,118,775 307,446
= 1,866,324
< 559,897
308 MtXIEHMSOIH 2,426,221 2,118,775 307,446
= 1,866,324
< 559,897
01 HXNHHNBHEELS 2,426,221 2,118,775 307,446
OFHe SRl X 2,426,221
= 1,866,324
< 559,897
ZOHQl LBt ARelAY XA 4,475,575 3,883,214 592,361
= 3,442,750
=) 1,032,825
308 XX EHSOIA 4,475,575 3,883,214 592,361
= 3,442,750
=) 1,032,825
01 HIXNHHBNEES 4,475,575 3,883,214 592,361
OZOHQ LetaddRelmy X 4,475,575
= 3,442,750
< 1,032,825
ZOHOl LB ARRIALS (AIZH) K& 804,383 644,870 159,513
= 618,756
< 185,627
308 XtXIEHH SO0l A 804,383 644,870 159,513
= 618,756
< 185,627
01 AXHHBIYEES 804,383 644,870 159,513
QX0 dura AT el (Al2EH)AIY X2 804,383
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Az BASK= M I E0H
M ool 2N
Sel: ZoHel MHESXABIA 235 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 618,756
=) 185,627
A ZHEOH QI OFOFAF THA AL 401,107 218,725 182,382
= 373,123
< 27,984
308 A EHSOIA 401,107 218,725 182,382
= 373,123
< 27,984
01 HIXNHHNBMNEELS 401,107 218,725 182,382
OAIZHZ0H QI CHOFAL TIFA ALY 401,107
= 373,123
< 27,984
ZOHAXATHEAIL JIsES 584,638 350,899 233,739
= 449,723
< 134,915
403 UtXISHH S A0l & 584,638 350,899 233,739
= 449,723
< 134,915
01 X SN2 L= 584,638 350,899 233,739
OZMAXMNAMEAE JIs2S 584,638
= 449,723
< 134,915
A L2AUSHFIXNZUEH2E 318,864 306,028 12,836
308 MtXIEHMSOIH 318,864 306,028 12,836
01 HIXNHHBHEELS 318,864 306,028 12,836
OZALZHS0o=I XNHH 29 318,864
O ALSESAY 48,000 48,000 0
308 A EHHSOIA 48,000 48,000 0
01 HXNHHNBMNELS 48,000 48,000 0
OZOMQ ALSH ESAHY 48,000
ZOoHel XIGASMEANE 2 1,927,930 1,861,420 66,510
307 glz2+ol & 1,927,930 1,861,420 66,510
05 RIZt2E = 1,927,930 1,861,420 66,510
OSE=EZZHLEE=EX2 2 1,739,930
OMII=XNSAEEHS 188,000
Zofel(s5el) sz 2% 1,199,000 1,152,500 46,500
307 gl2tol & 1,199,000 1,152,500 46,500
05 Rzt E = 1,199,000 1,152,500 46,500
X (BFel) M2 29 1,199,000
ZOHQUAZTHEAIE JIsEZ 19,844 0 19,844
= 11,673
< 8,171
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M ox
40 5 4

2ASX 3 Ao
D EY 2Nsd
DEY MEEXAHA 23

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 19,844 0 19,844
= 11,673
< 8,171
01 X SHMA2E X 19,844 0 19,844
OZOMAAZTTHEAILE JIs2S 19,844
= 11,673
< 8,171
N2 249 148,125 144,510 3,615
308 XXM SO A 148,125 144,510 3,615
01 AXHHBISEES 148,125 144,510 3,615
O8N 24 148,125
o JsZIItHal = 13,000 13,000 0
307 21201 A 13,000 13,000 0
11T M3 SXAISEEX 13,000 13,000 0
OZoel JIsZJIthal =l XI& 13,000
Ol MAS EHOHE LA 40,000 40,000 0
307 gl2tol & 40,000 40,000 0
11T ASI S RAEE = 40,000 40,000 0
OZOHQMAS THOH & & 3HAHY 40,000
SE=EE ZHAMEBOISANALEH 2 261,017 249,123 11,894
307 glz2tol & 261,017 249,123 11,894
10 ALl SXAIEEE 2 H EX 261,017 249,123 11,894
OSE=C FHUME0SXNAME 29 261,017
SEEL =0 EQHH 29 325,168 295,500 29,668
307 21201 A 325,168 295,500 29,668
10 ALSISXAIEEE2EHEX 325,168 295,500 29,668
OFE=L x=0S9HH 29 325,168
LSLEFNHAZZA HRXNESE DIHAAEAMY 73,906 62,147 11,759
308 MHXIEHSOIH 73,906 62,147 11,759
01 HIXNHHNBHELS 73,906 62,147 11,759
OgZHMAZE2X M IHAAEAMS 73,906
LT QAESA EX 308,988 207,141 101,847
= 237,683
< 71,305
308 XX EHSOIA 308,988 207,141 101,847
= 237,683
< 71,305
01 HIXNHHNBMNEELS 308,988 207,141 101,847
LHMN QAESA EX 308,988
= 237,683
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a2 BARTR SH AR
M ool 2N
Sel: ZoHel MHESXABIA 235 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 71,305
SSHMHLY XNAXEFE AN ALY 116,058 0 116,058
= 59,058
< 57,000
307 gl2tol & 116,058 0 116,058
= 59,058
< 57,000
05 Rzt E = 116,058 0 116,058
OZSHM XNAASFE HAXNF ALY 116,058
= 59,058
< 57,000
Zoje(BFe)HMs Js2d 319,150 0 319,150
401 Al HIZ 2018 319,150 0 319,150
01 A& HI 317,150 0 317,150
OFMel(sFe)dsa JIsEL 317,150
03 Al 2 0HHI 2,000 0 2,000
oMel(sFelMsa Js2d 2,000
AEXNEJAY S0 22T A& 11,315 0 11,315
308 XX EHH SOl 11,315 0 11,315
01 HIXNHHNBMNELS 11,315 0 11,315
OXNRINEZIAMNY 0 L2FHY AEXR 11,315
ZOHQ I H &M XSS el A Y 126,000 0 126,000
308 XXM SO A 126,000 0 126,000
01 IXNHHBMNEES 126,000 0 126,000
O121] oK JISH o HES LAelAt
& 126,000
HeZofel &stdEd XE 60,000 0 60,000
403 X SHHSA=0l& 60,000 0 60,000
01 HXSHMA=2E X 60,000 0 60,000
OngHoe datgd X FE 60,000
YA (ol &Ooielt) 131,813 124,106 7,707
= 12,000
< 119,813
Jl23l 63,040 55,540 7,500
JI23l 63,040 55,540 7,500
201 24l 17,740 17,740 0
01 At 22l 17,740 17,740 0
OJle=+&Hl 7,240
OJles gl 10,500
202 Oddl 37,800 37,800 0
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Ax: BASIKS M QI ZOoHel
H: HER2GEU (= FOHel )
chelr D123l (&)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
01 = LH 4 bl 37,800 37,800 0
OJlautl 37,800
405 TtabF S| 7,500 0 7,500
01 AL EFFH S 7,500 0 7,500
OArR4a o Xt +¢ 7,500
el 2l 68,773 68,566 207
= 12,000
< 56,773
QIHASAY| (LY ESAI HEol™d) 27,668 27,461 207
101 @124l 27,668 27,461 207
03 RIHAZ 22+ 27,668 27,461 207
ORIAHAZ 22+ 27,668
-Jl2s 1,693, 1102 128 20,318
— T 02, YRR LY
9,533& *150%*15A1 2t x 128 2,574
S PNESS = 76,2643 x15& 1,144
- ZE S| 1,693, 1102 x60%*23| 2,032
- = gl 130,000& =122 1,560
- ZstH s ALZ I 20,000 »23| 40
ol IyI(LoYRtel NAANG (T dgod)) 41,105 41,105 0
= 12,000
< 29,105
101 1244 dl 41,105 41,105 0
= 12,000
< 29,105
03 RIAHAZ 2B+ 41,105 41,105 0
ORIAHAZ 22+ 41,105
-Jl2= 2,574,010& 123 30,889
= 9,019
< 21,870
-oiE 02, BYRRLY
14,169& x150%*15A 2+ 12& 3,826
= 1,100
= 2,726
B PUESS=; 14,1692 8A| 2t x 15 1,701
=2 510
< 1,191
- Y EFOH 2,574,010 60%*23| 3,089
= 900
= 2,189
- = gl 130,000& 128 1,560
= 460
< 1,100
- ZstH S ALE I 20,0003 *23| 40
= 11

_48_




-

—

ol

K0

oJ
H

= A

il

=

B OB OH
&) RO Ar
I ®0 3l

M & oF
< RO

<

n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

29

4

_49_



= o
A & 0l & AF 2 E A A
20208 = =0l LB EA=SX= ~ EHASEX=
a2 BARTR SN RARHY
M zoHAsA
Sel: ZRBAYBIIYTE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SAHE MY 98,918,389 78,011,594 20,906,795
= 31,176,790
s 2,787,000
J| 40,316,889
< 24,637,710
coALSH 98,473,892 77,167,664 21,306,228
= 31,176,790
s 2,787,000
J| 40,269,151
< 24,240,951
S3EHARIB 2R 23,324,920 11,977,335 11,347,585
= 12,469,650
J| 344,438
< 10,510,832
SHE BHYASAMEIA HEAS 3,277,028 3,210,087 66,941
= 2,621,626
< 655,402
403 A X EHHS =0l A 3,277,028 3,210,087 66,941
= 2,621,626
< 655,402
01 X EHHM A= EE 3,277,028 3,210,087 66,941
Os0HE BHAZMHIA HAAS 3,277,028
= 2,621,626
=) 655,402
ALYMERNAEEH M= 401,844 0 401,844
Jl| 344,438
< 57,406
403 UHXSHHSA=0l& 401,844 0 401,844
Jl| 344,438
< 57,406
01 X SHMA2E X 401,844 0 401,844
OSFA WES ALHEXNAME &= 401,844
J| 344,438
< 57,406
ANEAB@S JlsTst 13,950,000 3,690,000 10,260,000
= 6,975,000
S 6,975,000
402 RIZ2EX201 ™ 13,950,000 3,690,000 10,260,000
= 6,975,000
=) 6,975,000
02 RIZE X2 AL EZ (01X ) 13,950,000 3,690,000 10,260,000
OFF - -&F242d Jls2Z 13,950,000
= 6,975,000
& 6,975,000
SFA22 AMHEUUE 4,625,000 4,625,000 0
= 2,312,500
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a2 BARTR SN BARHY
M zoHAsA
Sel: ZRBAYBIIYTE EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 2,312,500
201 L4 4,625,000 4,625,000 0
= 2,312,500
< 2,312,500
01 At 2t 2l 4,625,000 4,625,000 0
OFF2A2d AN& gz 4,625,000
= 2,312,500
< 2,312,500
Ngozd ozod X2 Aamd 526,400 328,000 198,400
= 263,200
< 263,200
307 21201 A 526,400 328,000 198,400
= 263,200
< 263,200
02 QIAHFAAFEX 526,400 328,000 198,400
OoXgozga ozed & 526,400
= 263,200
= 263,200
TTEH T2 AY 50,000 50,000 0
= 50,000
307 gl2tol & 50,000 50,000 0
= 50,000
02 It M AHE L 50,000 50,000 0
OF=2zd 25,000
= 25,000
OsF2zd 25,000
= 25,000
Agozd HESXA 74,248 74,248 0
= 37,124
< 37,124
402 It X201 & 74,248 74,248 0
2 37,124
< 37,124
02 It 2 AL EZ(OI X THS) 74,248 74,248 0
OXgeoza H2sHX2 74,248
= 37,124
< 37,124
3229z E8MAH = 400,000 0 400,000
= 200,000
< 200,000
307 glz2tol & 400,000 0 400,000
= 200,000
< 200,000
02 IZHE M AHE X 400,000 0 400,000
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a2 gA=K2 SN BAF Y
Hal: COIHALSH
Sel AYMBAH M CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
02 QI AAIE E X 130,000 130,000 0
OSSHUSTALXKE 29 130,000
J| 65,000
o= 65,000
308 NXIGHHMSOIA 3,927,954 3,947,016 A 19,062
J| 3,273,295
& 654,659
01 MIXHHIMNEXTS 3,927,954 3,947,016 A 19,062
OANZZ SEHLSE AFSH] 3,927,954
J| 3,273,295
& 654,659
S2HA DHY SAHN ALY 162,360 111,600 50,760
Jl 135,300
== 27,060
308 XAHXIEHSOIA 162,360 111,600 50,760
J| 135,300
o= 27,060
01 AIXSHMEMNEX= 162,360 111,600 50,760
OBAHA 2HY dAHN AY 162,360
J| 135,300
= 27,060
gEAL 22 AL 1,475,939 1,439,941 35,998
= 1,229,949
= 245,990
308 XAXISHSO0lI& 1,475,939 1,439,941 35,998
= 1,229,949
= 245,990
01 AIKISHHENEXZ 1,475,939 1,439,941 35,998
OYgHZL 22 ALY 1,475,939
= 1,229,949
o= 245,990
St RAEHA J|1J] WHSelH X 9,660 0 9,660
J| 8,400
= 1,260
403 XX S M S K201 A 9,660 0 9,660
J| 8,400
= 1,260
01 MXSHAHXE2EE X 9,660 0 9,660
OstnPAEAHA J|J| WH2H X 9,660
J| 8,400
& 1,260
2=dH XA AH A EEH| 146,736 52,260 94,476
J| 73,368
& 73,368
201 LBt ]| 146,736 52,260 94,476
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Az 2A=NR = A3
Mz COlAUZ=K
Sel AYMBAH M CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
Pl 73,368
& 73,368
01 AP 22| d| 146,736 52,260 94,476
OS2 XNSAHA E2H| 146,736
Jl 73,368
= 73,368
THAE SHAY LA HTX A 4,000 0 4,000
J| 2,000
=} 2,000
202 044l 4,000 0 4,000
J| 2,000
=} 2,000
04 = Hl st Hl 4,000 0 4,000
OXHAIE 2 LAY MXX Ast 4,000
J| 2,000
= 2,000
Al -2 RAGEASESA 2AHISANEA 2,142,520 2,365,728 N 223,208
J| 1,785,433
= 357,087
308 XXl €I S 0 & 2,142,520 2,365,728 ~223,208
J| 1,785,433
o= 357,087
01 AIXSHMENMNEX= 2,142,520 2,365,728 N 223,208
OAl - 2 XNY9Alsls4d 2HX& A 2,142,520
J| 1,785,433
= 357,087
HASE 22 Y 264,508 284,472 A~ 19,964
J| 264,508
308 XAXISHSO0|I& 264,508 284,472 A 19,964
J| 264,508
10 2| 2SHUSHE A XERAEASH] 264,508 284,472 A 19,964
OMAasSs 29Xs NS 264,508
J| 264,508
Ol=0F & A&H0lA0F o =2H| K& 235,500 259,500 A 24,000
J| 157,000
o=} 78,500
308 AMXISHMSOIA 235,500 259,500 A 24,000
J| 157,000
=} 78,500
01 AIXSHMENEXZ 235,500 259,500 A 24,000
O0l=0t & AAA0IA0F 92H X& 235,500
J| 157,000
& 78,500
SESHAIOI A AN & &0F2te] 100,500 135,000 A 34,500
J| 67,000
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a2 gA=K2 SN BAF Y
M zoHAsA
Sel AYMBAH M CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 33,500
308 XXM SO A 100,500 135,000 A 34,500
J| 67,000
< 33,500
01 IXNHHBNEES 100,500 135,000 A 34,500
OB SHIHAIOI A A & Eotatel 100,500
J| 67,000
< 33,500
dEd 3N E EFI X 34,500 97,500 263,000
J| 23,000
< 11,500
308 XtXIEHH SOl A 34,500 97,500 A 63,000
J| 23,000
< 11,500
01 AXHHBIYEES 34,500 97,500 263,000
Od&Ed HEAA & 2FI] XA 34,500
J| 23,000
= 11,500
HYRE XA 736,950 52,050 684,900
Jl| 491,300
< 245,650
308 AAIEHHSOIA 736,950 52,050 684,900
J| 491,300
< 245,650
01 HXNHHNBHELS 736,950 52,050 684,900
oHedER NI AY 736,950
J| 491,300
< 245,650
DI EAAIY Xl 35,400 35,400 0
J| 23,600
< 11,800
308 XXM SOl A 35,400 35,400 0
J| 23,600
= 11,800
01 IXNHHBMNEES 35,400 35,400 0
ORXNEAAMY X 35,400
J| 23,600
< 11,800
HESNHSASE HE 9,750 9,750 0
J| 6,500
= 3,250
308 MXIEHSOH 9,750 9,750 0
J| 6,500
< 3,250
01 X HHILEXS 9,750 9,750 0
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M ox
40 5 4

SA-EY . BH(3H) - NEAY - BYS ﬁlf& HDS2

OEFE2XNEHSFH HE 9,750
J| 6,500
o= 3,250

AEMD AASA o=l KAAE 18,000 19,800 A 1,800
Jl 12,000
& 6,000

308 XX SHAMSOIA 18,000 19,800 A 1,800
Dl 12,000
& 6,000

01 AIXHMBAEEXZ 18,000 19,800 A 1,800
OFAEAME dAMESA OJZH| XA 18,000
Jl 12,000
= 6,000

FIEAAFE 2 S Hl XS AL 175,500 115,500 60,000
| 117,000
< 58,500

308 XX S M SO0l & 175,500 115,500 60,000
J| 117,000
o= 58,500

01 AXHNBMNEXZ 175,500 115,500 60,000
OD/AEAAE o 2H| KNAS 175,500
Dl 117,000
& 58,500

MNASS JIIMAH - ZHES X 961,365 927,000 34,365
= 640,910
< 320,455

308 AXISHMSOIA 961,365 927,000 34,365
= 640,910
< 320,455

01 HXHHNBMNEXTS 961,365 927,000 34,365
OMASE JIMA - ZHES N 961,365
= 640,910
& 320,455

ADAMOL AL BRIA X R A 2,787,000 2,441,000 346,000
rag 2,787,000

308 AKX SHHSOIA 2,787,000 2,441,000 346,000
Rag 2,787,000

01 AIXHMBAEXZ 2,787,000 2,441,000 346,000
OAt2 AT MOEAH 22 2| A K3 A 2,787,000
hag 2,787,000

ADAMOL ALBRIAF =OF XA (KHA) 124,360 124,360 0

308 XX S M SO0l & 124,360 124,360 0

01 HXSHBARES 124,360 124,360 0
OAtR AT MOotAHZ 22| AF =0 X & ALY 124,360
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EEENE SN BARHY
CUALSH
AYMBAH 4835 SEREED)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
D0 AIE 29 1,000 1,000 0
201 gBt24d| 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0
OR0tAIEY 2HH| 1,000
ZOIJt= APE Q1T 150,000 150,000 0]
= 100,000
& 50,000
308 XHXIGHH SO0l & 150,000 150,000 0
= 100,000
& 50,000
01 AIKSHHEMNEXZ 150,000 150,000 0
OOl It=E AtEQ N &9 150,000
= 100,000
o= 50,000
ot ZI|IAHE ALY 1,472,801 ,679,499 A 206,698
J| 1,132,924
=} 339,877
308 MXISHMSOIA 1,472,801 ,679,499 A 206,698
J| 1,132,924
= 339,877
01 XHHIMNEEXTZ 1,472,801 ,679,499 A 206,698
O ZI|H& A 1,472,801
J| 1,132,924
& 339,877
X FAHE X 210,000 180,000 30,000
J| 105,000
& 105,000
307 2Iz2t0| A 210,000 180,000 30,000
Jl 105,000
o= 105,000
02 QIZHEAAIRE E X 210,000 180,000 30,000
OX<EdHEe X 210,000
J| 105,000
& 105,000
M= SE KA 22l 200,000 200,000 0
J| 100,000
& 100,000
307 gizto| A 200,000 200,000 0
J| 100,000
& 100,000
02 AI2tAAMAIE E =X 200,000 200,000 0
OgM=ER S X 2l 200,000
Dl 100,000
= 100,000
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A= HHEX =2 g AH
Mz COlAUZ=K
Sel AYMBAH M CER-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
&R 2= H| K& 639, 120 1,326,439 A 687,319
9] 491,631
& 147,489
308 XAHXIEHSOIA 639, 120 1,326,439 A 687,319
b] 491,631
= 147,489
01 AIXSHMENMNEX= 639, 120 1,326,439 A 687,319
O it o2 H| XN 639, 120
J| 491,631
=} 147,489
THOLet&t A 22l 89,193 89, 193 0
J| 68,610
= 20,583
308 XNXIGHSO0l& 89,193 89, 193 0
J| 68,610
= 20,583
01 HXHHBIMNEXS 89,193 89, 193 0
OMII2Et X 22| 89,193
J| 68,610
o= 20,583
232X LB HAAAHA 249,644 313,307 AN B3,663
J| 232,227
=} 17,417
308 AMXISHMSOIA 249,644 313,307 A B3,663
J| 232,227
= 17,417
01 AIXSHMENEXZ 249,644 313,307 N 63,663
O9z20 =32 HX L AA2HA 249 644
J| 232,227
& 17,417
AEZNHLBAK RO AL A 23,473 37,670 A 14,197
J| 21,835
o=t 1,638
308 XHXIEH SOl A 23,473 37,670 N 14,197
J| 21,835
& 1,638
01 AIXSHHENMNEX= 23,473 37,670 N 14,197
O9220W =22 R0 ALHX 23,473
J| 21,835
& 1,638
232X HLBE ot S ELH| 15,050 15,050 0
J| 14,000
& 1,050
308 MXISHHMSOIA 15,050 15,050 0
J| 14,000
& 1,050

_58_




.

=]
"l
U
i~
iy

= A

nr
=
o
Ry
H
nr
El

o
el
20
R R
Ko <u
0 il
20
o) R0
WH =

&l OF
%0 OJ

<

n0

Kio

Hl w

8,850

8,850

8,850

47,237

H3r
Wikd
RIS

15,050

11,575

11,575

11,575

69,412

1,000

1,000

68,412

68,412

19,110

19,110

19,110

14,400

14,400
14,400

428,245

Off &t 24

15,050
156,050
14,000

J|

H

1,050
20,425

Il

19,000

H

1,425

20,425

Il

19,000

H

1,425
20,425
20,425

19,000

Jl|

1,425
69,412
34,706
34,706

W

Jl

H

1,000

500
500
1,000
1,000

y

H

500

500
68,412
34,206
34,206
68,412
68,412
34,206
34,206

Il

H

Jl

H

Jl

H

19,110
19,110
19,110
19,110
19,110
19,110
19,110
14,400

Jl|

J|

Il

14,400

14,400
14,400

475,482
475,482

Jl

01 XX

iy
10

ulo

-

oJ

&J
A0
A0
™

o
Mo
3+

no
it}

o]

ord

=
=)

308 A+XIEHH

el Ak

Al
70

ol
Kl
Bl
il
H

<0
H

no

-

<0

A

il

<0

IH

-,

H
&l

307 21201 A

K1

ol

-,

<0
R0
~J

oJ

E ol MEX

AR

O

]
Rl
X0
ol

ord

=
S

dl

=
[uy]
K

t

308 Xt

01 X EHHBLEES

Atgl X1 &

H
=]

dsW =St

o

=
S

308 At A

01 XX

el

Ki

-

nO0
Y

o}

ar

_59_



.

=]
"l
U
i~
iy

= A

nr
=
o
Ry
H
nr
El

o
el
20
R R
Ko <u
0 il
20
o) R0
WH =

&l OF
%0 OJ

<

n0

Kio

Hl w

47,237

47,237

117,000

117,000

117,000

8,897,980

H3r
Wikd
RIS

428,245

428,245

10,000

10,000
10,000

1,689,433

1,689,433

1,689,433

6,096,529

11,200

10,000
10,000

1,200
1,200

22,000

22,000
22,000

4,080

4,080
4,080

11,232

11,232

Off &t 24

475,482

475,482

Jl

475,482

475,482
475,482

J|

10,000

10,000
10,000
10,000

1,806,433

1,389,564

J|

H

416,869
1,806,433

1,389,564

J|

416,869
1,806,433

1,806,433

1,389,564

Jl

H

416,869
14,994,509
9,899,000
3,256,680

i

1,838,829

A

11,200

10,000

10,000
10,000

1,200
1,200
1,200

22,000

22,000
22,000
22,000

4,080

4,080
4,080
4,080

11,232

11,232

ors

=
=)

308 A+XI A

o
K4

<0
0
<
ul

dl

F

01 XX

OAlZ XIS A

2
%0
1o
L
K

-

nO0
Y

o}

ar

307 21201 A

K
H
ol
<0
0
~J

oJ

O XIS At

&

Ol &

=
=)

308 AtXIEHH

2

PRSI =[P

F

o)

R

=
Y

ol

00

<l

3
|l
ol
i
iz}

KJ
KE
0F
oD
i)
H

&0
]3]
o]
oll

01 At 22l bl

00
<k
<0
0
]
oll

KJ
KE
ok
oD

Kl
Kt

[oz =]
= T

=
=d

ZH
AR

03 Al

0f
=
o-

Rr

o]
)
H
Ko

80
0B
J
oll

0
=
o+

Rr

ol
i)
H
KO
Ho

K

ol

<
<

o]
i
H
Ko

30
]3]
o]
oll

01 At 22l bl

n
FA

ol

4
4

ol
)

Kio
[0

O
E
<+
H

o
ok
Ho
00
&l

113
KJ
Y

ors

=
=)

308 AtXI A

Mo

M0

H

_60_



ERCEEVE SN A
M CoALSH
o9l A2 HHIA B4 CER-ED
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
01 AXSHHBLEES 11,232 11,232 0
OE2dE dEFSRF Ex0=S 11,232
A A Bxod”g XA 231,559 225,089 6,470
308 AXIEtH S0l A 231,559 225,089 6,470
01 IXNHHBANEES 231,559 225,089 6,470
O2ddlzgs 2x08 XA 231,559
szl N 407,000 441,899 A 34,899
J| 407,000
308 XX EHHSOIA 407,000 174,000 233,000
| 407,000
01 HXNHHBHELS 407,000 174,000 233,000
Oogz2zJ/& diIZ2% Ex3 407,000
| 407,000
HAXN 2= 212 NE 1,440,016 1,450,000 29,984
| 1,440,016
308 XXM S0 A 1,440,016 1,450,000 A 9,984
| 1,440,016
01 AXNSGHBLAEES 1,440,016 1,450,000 AN9,984
OF X 224 29712 N 1,440,016
| 1,440,016
FHAXN FAEEN UERIT =29 33,790 46,292 A 12,502
| 33,790
307 glz2+ol & 33,790 46,292 A 12,502
| 33,790
02 RIZHE MM E X 33,790 46,292 A 12,502
OF X 338 HUERHD =29 33,790
J| 33,790
LOIEAE Q2 HAX XA (2Y) 200,000 200,000 0
= 125,000
= 75,000
308 XXIEHH SOl A 200,000 200,000 0
= 125,000
< 75,000
01 X HHILEXS 200,000 200,000 0
Oa0t83AY QgFAX NA(2H) 200,000
= 125,000
< 75,000
Ng S22 AL 22,000 0 22,000
308 XXM S0 A 22,000 0 22,000
1037/ 2S0HUHSBHEAEALS I 22,000 0 22,000
OXE 2=22AS A 22,000
S=SA2XJdEH 224 XI& 154,600 125,400 29,200
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NENC RN SN BARHY
HY: COAYEN
ool BAOBNHIA B CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 27,500
403 MtXISHHSA=0l& 82,500 12,591 69,909
J| 55,000
< 27,500
01 XM A=2E X 82,500 12,591 69,909
OXsazEsxAal 22 N 82,500
J| 55,000
< 27,500
HHAdes S SSHILSH XS 160,000 28,286 131,714
J| 80,000
< 80,000
307 21201 A 160,000 28,286 131,714
J| 80,000
< 80,000
02 QIAHFAAFEX 160,000 28,286 131,714
OdHAM=s & S=SHMALSH N2 160,000
J| 80,000
= 80,000
Sgostdy g XA 9,820,000 1,500,000 8,320,000
= 9,320,000
< 500,000
403 HXSHHSA=0l& 9,820,000 1,500,000 8,320,000
= 9,320,000
< 500,000
01 X SHHMA=LE L 9,820,000 1,500,000 8,320,000
Osgostdy Ag X 9,820,000
= 9,320,000
< 500,000
SsS4 2% =) AZd S X N2 50,000 0 50,000
403 MtXISHH S =0l & 50,000 0 50,000
01 AXISHHA=2E = 50,000 0 50,000
S24 29 92012 AZd 2y &1 N 50,000
= OFF X KE ALY 720,000 720,000 0
= 450,000
< 270,000
308 XXIEHHSOIA 720,000 720,000 0
= 450,000
< 270,000
01 XML EES 720,000 720,000 0
O=HAX XA 720,000
= 450,000
= 270,000
HASE A AMH A X2AS 199,584 221,760 A22,176
307 gl2tol & 199,584 221,760 A22,176
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& FAUSAMA OlgteEtE (Sl & &)
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
05 RIZtR & = 856,570 835,500 21,070
OZdFuALFNHE 2 856,570
J| 428,285
< 428,285
FAAL=XNHEH 2 1,787,912 2,573,480 A785,568
J| 1,277,080
< 510,832
308 XXIEHH SOl A 1,787,912 2,573,480 785,568
J| 1,277,080
=) 510,832
01 AXHHILEES 1,787,912 2,573,480 A785,568
OAlZ BHAZ=RNEEH 29 1,787,912
J| 1,277,080
=) 510,832
FAAHZ=RNEEH H&Es 1,208,928 0 1,208,928
J| 863,520
< 345,408
308 MtXIEHMSOIH 1,208,928 0 1,208,928
J| 863,520
< 345,408
01 HXNHHNBHELS 1,208,928 0 1,208,928
OZFUAHLFXNNE E=E 1,208,928
J| 863,520
= 345,408
FAUAHL=XNEEH S SANL dMAH X2 71,880 68,400 3,480
307 glz2tol & 16,800 16,800 0
03 BIZHHNHE2IHIEL 16,800 16,800 0
O&Y FUAZ=RHEEH XML& 16,800
308 XtXIELH SOl A 55,080 51,600 3,480
01 XML EES 55,080 51,600 3,480
OAlZ BHAZ=SXNEEH HRIHLH 55,080
TN EARA BAUALS ALY 32,000 32,000 0
J| 32,000
307 21201 A 32,000 32,000 0
J| 32,000
05 RIZtRE = 32,000 32,000 0
OXNAULART ZUALSEAG 32,000
J| 32,000
Otz - #AaE FABHAY 727,580 559,900 167,680
J| 363,790
< 363,790
308 XX EHHSOIA 727,580 559,900 167,680
J| 363,790
< 363,790
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SRl ZAEAMALY JeEE (&)
= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
01 XM BaEES 727,580 559,900 167,680
O0ts - E4d FAUEBAAMY 727,580
Jl 363,790
= 363,790
g RIIXNEXNE 28,000 0 28,000
= 20,000
= 8,000
308 XXM S0l ™ 28,000 0 28,000
2 20,000
= 8,000
01 UAXESHHBLEXS 28,000 0 28,000
Odd&a XIXNEXE 28,000
= 20,000
= 8,000
HHAUA XZH XA 14,000 0 14,000
2 10,000
S 4,000
308 Xt &M S 01 A 14,000 0 14,000
2 10,000
S 4,000
01 XM ZBEEES 14,000 0 14,000
O#ZYA XEHIXEY 14,000
2 10,000
= 4,000
S=SgY¥% HEXE 19,600 0 19,600
= 14,000
= 5,600
308 XXM SO0l ™ 19,600 0 19,600
2 14,000
= 5,600
01 XM BaE2ES 19,600 0 19,600
OS=gd HEsSAHA 19,600
= 14,000
& 5,600
FUuZEE e X2 XE M XZH XA 28,000 0 28,000
= 20,000
S 8,000
308 XXM S0l ™ 28,000 0 28,000
= 20,000
= 8,000
01 X HHBLEXES 28,000 0 28,000
OZd &g AHXNESXNE M X=H XS 28,000
= 20,000
= 8,000
THaoY U HAALSAY 397,037 397,037 0
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Jl 305,413
=) 91,624
308 XX EHHSOIA 397,037 397,037 0
J| 305,413
=) 91,624
01 HIXNHHBNEES 397,037 397,037 0
OXtaue & FMALSTAY 397,037
J| 305,413
< 91,624
HaAHX SSHLX=H X3 51,000 51,000 0
308 XXM SOIA 51,000 51,000 0
01 AXHHIYEES 51,000 51,000 0
O S8HLX=H XA 51,000
NS Ae! AW WERD #5 18,000 18,000 0
307 21201 A 3,000 3,000 0
05 RIZtRIEt = 3,000 3,000 0
OXNZALE Tty WEKD 25(24) 3,000
308 XX EHSOIA 15,000 15,000 0
01 HIXNHHBNEES 15,000 15,000 0
OXAte &g WERRIA 25 15,000
SSTEN Az 2eld KA 108,000 108,000 0
308 XXM SOl A 108,000 108,000 0
01 AXHHBILEES 108,000 108,000 0
O*R=23&Xk XNz2eldl X 108,000
SESEL &MY 4080t 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OFE=T N0 EoF A Al 10,000
sSs2clSENJAUH 29 105,097 102,583 2,514
= 80,844
< 24,253
308 X EHSOIA 105,097 102,583 2,514
= 80,844
< 24,253
01 HIXNHHNBMNEES 105,097 102,583 2,514
O==2clsENIEH 24 105,097
= 80,844
< 24,253
FARAANE 29 & 7,278,499 7,277,117 1,382
= 6,368,685
= 909,814
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a2 gA=K2 SN BAF Y
Mz COlAUZ=K
CHe: HABAMAH JIBES (2 &HH)
- _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
308 XHXIEHSO|A 7,278,499 7,277,117 1,382
= 6,368,685
& 909,814
01 AIXSHMEMNEX= 7,278,499 7,277,117 1,382
OFNQRAANALE 29 & 7,278,499
= 6,368,685
=} 909,814
HAEOHC HEXR 3,000 3,000 0
307 gizto| A 3,000 3,000 0
04 CIZ2tSHALALS B = 3,000 3,000 0
OFMEOHS THEX A 3,000
AMBIEX AL HILAA =S (HAAE) 10,920 0 10,920
201 et 9| 10,920 0 10,920
01 AR 22l ] 10,920 0 10,920
OMIIEXAIYE TILAA =S (HAMAIL) 10,920
X0t b 29 K& 9,240,000 10,471,650 N 1,231,650
J| 8,800,000
o=t 440,000
308 XAHXIEHMSOIA 9,240,000 10,471,650 N 1,231,650
Jl 8,800,000
& 440,000
01 AIXSHMENMNEX= 9,240,000 10,471,650 AN 1,231,650
OXIOetAlHEH 2 XS 9,240,000
J| 8,800,000
& 440,000
XWX S 2eld (2Hbl) X 1,089,400 666,758 422,642
J| 838,000
= 251,400
308 XHXIEH SO0l & 1,089,400 666,758 422,642
J| 838,000
= 251,400
01 AIKSHHEMNEXZ 1,089,400 666,758 422 642
OXIXI S22 (2HYl) XA 1,089,400
Dl 838,000
== 251,400
X0HEX SSME XS 198,439 198,439 0
308 MXISHMSOIA 198,439 198,439 0
01 HXHHIMNEEXTZ 198,439 198,439 0
OXlheX ssMHeg & 198,439
XNOHEZE AAMNEXA 48,000 48,000 0
307 2Iz2t0| & 20,000 20,000 0
11T A EXAIEEX 20,000 20,000 0
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OXI0f - 58S AAHLXE 20,000
308 XXM SOIA 28,000 28,000 0
01 AXHHIYEES 28,000 28,000 0
OeXIeg =208 23 28,000
HAXNMAE 2 601,000 590,239 10,761
J| 420,700
< 180,300
307 21201 A 601,000 590,239 10,761
J| 420,700
< 180,300
05 RIZtREt = 601,000 590,239 10,761
OSE=E ZFIAXMMHEH 29X 601,000
J| 420,700
< 180,300
Aol 22=A XA 31,712 7,827 23,885
J| 30,200
=) 1,512
308 XX EHHSOIA 31,712 7,827 23,885
J| 30,200
=) 1,512
01 HIXNHHNBNEES 31,712 7,827 23,885
OXice 3= XN 31,712
J| 30,200
< 1,512
SEST ZAXMMEAEH SAX MRMHLH X 9,600 0 9,600
307 21201 A 9,600 0 9,600
03 IAHMEE2HHIES 9,600 0 9,600
SEEE ZAXNMAE SAX HRMHLH X
2 9,600
NHSSEH SAXNIH(ZAXNMLEH) 2] 4,690 0 4,690
J| 3,280
< 1,410
307 glz2+ol & 4,690 0 4,690
J| 3,280
< 1,410
05 RIZt2IE = 4,690 0 4,690
OXs3FA FAXNAH(ZIAXMEH) 2Y
=l 4,690
J| 3,280
< 1,410
ZIgugasas 17,209,466 15,888,916 1,320,550
= 323,752
J| 12,687,928
=) 4,197,786
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S X AR 2 1,000 1,000 0
301 EEd = 1,000 1,000 0
12|24 = 1,000 1,000 0
OSSR AR (RI2H) a4t 1,000
TRUGSEIEZZAAMY 32,240 48,960 N 16,720
= 16,120
< 16,120
201 Let24E] 8,000 8,000 0
= 4,000
= 4,000
01 At 22l 8,000 8,000 0
Ot & 88 8,000
= 4,000
< 4,000
301 LeEBAF 24,240 24,960 AT20
= 12,120
< 12,120
12 J|EtE& = 24,240 24,960 AT20
FRULHHEEEZZAAY 24,240
2 12,120
< 12,120
ozoEAdIdE E22ZAMA 23 88,000 73,000 15,000
Jl| 88,000
308 AHAIEHHSOIA 88,000 73,000 15,000
J| 88,000
01 HXNHHNBMNEES 88,000 73,000 15,000
Oczzdzgd E=ZAMA 29 88,000
J| 88,000
oEZHAAY H2ZAMA 2L (22Hl) 700 700 0
J| 700
308 XXM SOIA 700 700 0
J| 700
01 IXNHHBNEES 700 700 0
Ooza2ddy Z22AMA 2L (224l) 700
J| 700
Zelxg 298 g/XZ 47,154 7,400 39,754
= 23,577
< 23,577
307 21201 A 47,154 7,400 39,754
= 23,577
< 23,577
01 =L =4l 47,154 7,400 39,754
OZelxz 288 gJAX =l 47,154
= 23,577
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SRl eSS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 14,000
HEHC OISTAMHA 2S 11,400 11,400 0
J| 5,700
< 5,700
308 AHXIEHHSOIA 11,400 11,400 0
J| 5,700
< 5,700
01 HXNHHNBHNEELS 11,400 11,400 0
Od=Hc OISZAMA 24 11,400
J| 5,700
< 5,700
MEHA ==SUHERH HUES7 FUHXA 12,150 12,120 30
J| 12,150
403 MtXISHH S0l & 12,150 12,120 30
J| 12,150
01 AXISHH A2 = 12,150 12,120 30
OUEZHA=ZsUHES2E HeEs FUHARE 12,150
J| 12,150
2UH3E & 4202 12,000 0 12,000
= 12,000
308 XtXIEHH SOl A 12,000 0 12,000
= 12,000
01 X HHILEES 12,000 0 12,000
OZUHESE & JIMsZEug2el 12,000
= 12,000
Z2E8E g8 2 ZAEs L& 15,100 15,100 0
201 ¢er24| 9,100 9,100 0
01 At 22/l 9,100 9,100 0
Os22 HM&ES 8,000
OgdgH&22 =&l 1,100
202 (4 Hl 6,000 6,000 0
01 = LH 4 b 6,000 6,000 0
OZZEEE & ZAES Y| 6,000
A eSS 100,000 100,000 0
206 M= Hl 100,000 100,000 0
01 2l 100,000 100,000 0
Ogoiorzag 100,000
OlOI = Ol AL 45,000 40,000 5,000
307 glz2+ol & 45,000 40,000 5,000
02 IZtE A AHEE 45,000 40,000 5,000
oolol=ole ¥ =3W= 45,000
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Hu: COALEA
el AEHUYHSAS (S &2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OOl & 0 282,060 181,912 100, 148
J| 216,970
< 65,090
308 AHAIEHHSOIA 282,060 181,912 100, 148
J| 216,970
< 65,090
01 HIXNHHNBHELS 282,060 181,912 100, 148
Oulolx & SEHuT A 282,060
J| 216,970
< 65,090
StHICIRlI 2 At 140,000 140,000 0
307 glz2tol & 140,000 140,000 0
02 QIZtE M AMHEE 140,000 140,000 0
Ot =2 AFA 140,000
St &R A ALY 15,400 15,400 0
307 21201 A 15,400 15,400 0
02 IAtFAAHEX 15,400 15,400 0
Ostdl gt 85 A 15,400
StMlHS AL 2t 2| X & 68,670 76,240 AT,570
= 34,335
< 34,335
308 MtXIEHSOIH 68,670 76,240 AT,570
= 34,335
< 34,335
01 HXNHHNBHELS 68,670 76,240 AT,570
OstZ Xt MAHl X 68,670
= 34,335
< 34,335
SHAIOITI G At TIl off X+ 44 & X| & 87,720 81,000 6,720
= 87,720
308 XX EHH SOl 87,720 81,000 6,720
= 87,720
01 IXNHHBNEES 87,720 81,000 6,720
Ostdl NI G Ak Il oHf X 44 & X & 87,720
= 87,720
Z=3| KNS 85X 1,200 1,200 0
202 044l 1,200 1,200 0
01 SLHOIYI 1,200 1,200 0
OZsi&e| oA 30l 1,200
Zai2e| At Y 14,000 14,000 0
307 21201 A 14,000 14,000 0
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M zoHAsA
SRl eSS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
02 It M AHE L 14,000 14,000 0
OZsiaelAty XI& 14,000
FHAHNE ZHZ ALY 54,000 54,000 0
307 glz2tol & 54,000 54,000 0
01 922724l 54,000 54,000 0
OFAAHNES ZHB AL 54,000
=2 H 0L AL 66,000 39,130 26,870
J| 33,000
< 33,000
101 @124l 17,200 0 17,200
J| 8,600
= 8,600
04 JIZHHZ2Z2XNSE+ 17,200 0 17,200
OZsHAtd&eled o2 17,200
J| 8,600
< 8,600
201 L4l 4,000 3,400 600
J| 2,000
< 2,000
01 At 2t 2l 4,000 3,400 600
O=&H & HstX AU 4,000
J| 2,000
< 2,000
202 (44l 3,200 4,800 A 1,600
J| 1,600
< 1,600
01 SLHOIYI 3,200 4,800 A 1,600
OZsHaegR=& Ml 3,200
J| 1,600
< 1,600
303 L& 3 3,600 3,000 600
J| 1,800
< 1,800
01 243 3,600 3,000 600
OZsiztel )2 X4 3,600
J| 1,800
< 1,800
307 21201 A 38,000 27,930 10,070
J| 19,000
< 19,000
01 92724l 30,000 27,930 2,070
OZHAC H&H 2 Al 30,000
J| 15,000
< 15,000
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NENC RN SH BAT MY
M CoALSH
ol AYAHYES A (ol @)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
02 It M AHE L 8,000 0 8,000
OFsFLOIZ AU 8,000
| 4,000
< 4,000
AN 2SS AS 704,193 456,147 248,046
| 610,499
< 93,694
308 XXIEHH SOl A 704,193 456,147 248,046
| 610,499
< 93,694
01 AXHHILEES 704,193 456,147 248,046
OAlZ 20 &AL 704,193
9] 610,499
S 93,694
o2 JI2 & ALY 264,503 206,220 58,283
J| 264,503
308 XX EHH SOl A 264,503 206,220 58,283
| 264,503
01 AXSHBLELS 264,503 206,220 58,283
Ozl Bz Ay 264,503
| 264,503
SHHZE S AAl 14,512,324 14,191,687 320,637
| 11,163,326
< 3,348,998
308 XXM S0 A 14,512,324 14,191,687 320,637
| 11,163,326
= 3,348,998
01 AXNSHHBLEES 14,512,324 14,191,687 320,637
OAZ St EE S ALY 14,512,324
J| 11,163,326
< 3,348,998
ANZ s sE2e X2 185,808 0 185,808
| 185,808
101 @124l 185,808 0 185,808
| 185,808
02 JIEH R 2 185,808 0 185,808
OAZ HEZ3EssS=E22XE 185,808
| 185,808
=L ES S5 224l 26,544 0 26,544
J| 13,272
= 13,272
101 1A bl 26,544 0 26,544
J| 13,272
< 13,272
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